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�´*%�|��<c$2�9�7C�(+<���3W,9��(W<%���A(6=9��3�<�3+�I=?"c$�&).k:Ó^�(+<M*c(+� Zw}���$A(W�?$��c,?365M�°��$k�´$7$A���c(�1-�_�M8�É �»B�(+�|�c=93��:�
���`�����$���k�.�����������
3W,#=9"%,93W*%��"�3W*c,kÆ;$2�D�?��=?$�(6=1�>�D�v�N���<�� ¡ � ¢�e�£�¤��¥R�'¦}�R§<�<�D¨D�'�N�������cZ
!#"%$�^`(+<M*c(W���°�U3W,9��(W<%���2$2���|<>=?3£Y2[ �?$214=?�|3W<c�2Z !#"%$�B_3>�®=k14*c,?,9$7<>=;5�$7,-�¨�|3W<�3W�O=?"c$�^�(+<M*c(+�z�°�U(a56(W���°(+�%�|$03�<�=?"c$�&)(+*%,-(
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Volunteer

Agreements

Releases

Budget

Reward

LawyerResources

Supplies

Food

Parking

Special Equipment

Public
Affairs*

Search
Operations*

Legal

* - These positions handle sensitive information and wear red nametags

Family
Liason*

All volunteers not listed wear yellow nametags

Director*

Recovery Center Organization

Assisting Agencies

Mayor

Fire Department

Emergency Management

Child Find Organizations

Law Enforcement

Deputy Director*

Management*
Resource

Volunteer Processing

Historian*

Flyers

Phones

Security*

Computer Operations

Targeting*

Mapping*

Briefing*

Search Status*

Special Tasks* Thank You Letters

Debriefing*

Medical

Search Teams

Spokesperson*

Media Strategist*

Administration*

Other positions listed wear blue nametags

�)�|�W*c,?$�Y:AÂ��,9��(W<%���A(6=9��3�<D:;"c(W,¨=
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NOCJ�� Y Ow_£S�OwJ YILNJ
O�� J
LNH�K ]%_�| XZOwM4K*LN_�M�iD~niDb i(S
i�O}M
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�%�|(W<%<%�|<%��(+<c��$4Ã�$A14*�=9��3�<�3W�#(W�����?$2(W,91-"�3W�z$7,-(6=?�|3W<��7CI$A�®=-(+�%�|�|�?"%�|<%��143�B_B/*%<%�°17(+=?�|3W<�Æk�µ=9"��°(aÆ×$2<��´3W,-14$2B_$2<>=
(+<c�£3+=9"%$7,«�W365W$2,?<cB_$2<>=#(W�W$7<�14�|$2�2C�B�(W��<>=-(+�|<%��<c��143WB�B/*%<%�°17(6=9��3�<DÆk�µ=9"D=?"%$'B��°�?�?�|<%��1-"%���°�>= �k�y(WB_�|�|8WC��%��,9$214=?�|<%�
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¸«�|,?$A1 =93W,�(W<c��¸�$7�%*�=®8�¸��|,?$A1 =?3�,��?"%3W*c�|���91-"%$A��*%�|$`,?$2�W*%�°(+,�B_$2$4=9��<%�>��=93���$7$7��(W��� 143�,?$��W,93W*%���z$7,-�¨3�<%<%$2�
��<��´3�,?B�$A��(W<c��=93��|�%$7<>=?���´8�(W<c��,9$2�?3W�|5W$��%,93W�%�|$7B��k(��U=?"%$28�(+,9�|�?$�rÑ¬M$A1 =9��3�<D[ ry3W<D¸«�|,?$A1 =93W,�= �0¬M*cB_B�(W,?8
xDx4Z
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��<��´3�,?B�(+=?�|3W<OC��%,?365M�°���|<%����$7=9(+�|�|$2� B�(+���03+�Â(W,?$A(W�#=93��z$_�?$2(W,91-"c$2�IC��%,?�|3W,9��=?�|�7�|<%��(+<c��=9(+,9�W$7=?�|<%��(W,?$A(W�#=93 �z$
�¨$A(+,-1-"%$2�IC��%,9��$7Ìc<%��(W<c�`��$2�%��368MB�$7<>=«3W�Â�¨$A(+,-1-"£=?$2(WB��7CzB�(+�|<�=-(+�|<%�|<%� �¨=9(+=?*c�«��<��´3�,?B�(+=?�|3W<�(W��3�*�=0=?"c$_�?$2(W,91-"
(+<c��=?"c$��?$2(+,-1-"�=?$2(WB��7CwB�(+�|<�=-(+�|<%�|<%��143�B_B/*%<%�°17(+=?�|3W<¶Æk�µ=9"¶=?"%$��¨$A(+,-1-"�=9$2(WB��2C (+<c�¹�?$217*%,?�|<%�`(W<c�¶17(+,9�|<%�
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rÑ¬M$A1 =?�|3W<£±¤r´3�<D¬�$2(+,-1-"D���z$7,-(6=9��3�<c��xDx Z

� ·k��B���<%�°�¨=?,-(6=?�|3W< �).k$A�¨�z3W<c�?�|�%��$U�´3�,��c8W$2, �%$2�?����<OC6=?$2��$2�%"%3�<%$#��<c�¨=9(W���°(6=9��3�< (W<c�/B�(W��<>=9$7<c(W<c14$�C6=?$2��$2�%"%3W<c$U��(+<%�
3W�z$7,-(6=?�|3W<@C�=?"%$���$7<%$2,9(+=?�|3W<�(W<c��=?,-(+<c�?B��|�9�?��3�< 3+�U��·����lrÑ�¨*�1-"¶(����c8W$2,9��(W<c���%,?$A�?��,9$7�|$2(��¨$A�,x4CI,?$2�W�°�®=9,9(+=?�|3W<
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Recovery Center Control No:________________                                  Press Hard                              ________________Control No:________________

INFORMATION CONTROL

DATE:______/______/______ TIME:______:______ AM / PM      LOCATION:___________________________________

INFORMATION FROM:

NAME:_________________________________________________________ M____ F____ D.O.B.:______/______/______

ADDRESS: ___________________________________________________________________________________________

CITY:______________________________________________________ STATE:__________________ ZIP:____________

HOME PHONE:(____)_____________________________ WORK PHONE:(____)_________________________________

SOURCE:                                                         IN PERSON:____ BY PHONE:____ OBSERVATION:____ WRITTEN:____

SEARCH SECTOR NO:________________         TEAM NO:________________

NARRATIVE: (Be Specific)

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

____________________________________________________________________________________________________

Information Control Supplement Attached? - Yes:____ No:____

PRIORITY: HIGH____ MEDIUM____ LOW____
DISPOSITION: LAW ENFORCEMENT____ ACTION____ ANALYSIS____ HISTORIAN____

ADDITIONAL COMMENTS AND RECOMMENDATIONS:__________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

PREPARED BY:
NAME:_____________________________________________________ PHONE:(____)____________________________

White copy - Analysis                       Yellow copy - Historian                       Pink copy - Law Enforcement                       Gold copy - Law Enforcement

Press Hard
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Recovery Center No: ___________________________                   Press Hard              __________________ Control No: ________________________

(Use same Recovery Center No. as on corresponding Information Control Form)

INFORMATION CONTROL SUPPLEMENT

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

PREPARED BY:

NAME:_____________________________________________________________ PHONE: (____)______________________

 White copy - Analysis                       Yellow copy - Historian                       Pink copy - Law Enforcement                       Gold copy - Law Enforcement

Press Hard
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Spacing of searchers is dictated
by terrain and size of search area.
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by terrain and size of search area.
Spacing of searchers is dictated
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by terrain and size of search area.

Spacing of searchers is dictated
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Recovery Center Control No:________________                                  Press Hard                              ________________Control No:________________

BRIEFING FORM

DATE:______/______/______ TIME:______:______ AM / PM           SECTOR NUMBER:________ TEAM NO:________

TEAM LEADER:______________________________________________      VOL. REGISTRATION NUMBER:________

ASSIGNMENT:     SEARCH TEAM:____     [ SPECIAL TEAM:____    TYPE:________________ ]

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

COMMUNICATIONS:

MOBILE PHONE:_______________________________________     RADIO / CHAN.____________ FREQ.____________

SITUATION OVERVIEW:

NAME OF MISSING CHILD:____     DESCRIPTION:____     FLYER:____     SITE LAST SEEN:____
WEATHER:____     TERRAIN:____     HAZARDS:____     SAFETY:____

Briefer must check that every searcher presents the yellow copy of his or her Volunteer Registration Agreement Form.
Briefer should be on the alert for any volunteers who may not be physically or emotionally prepared for the search assignment.

TEAM CHECKLIST:
MAP:____ TEAM ROSTER:____ TEAM PHOTO:____ COMMUNICATIONS:____
RECOVERY CENTER CONTACT:____ MARKING TAPE:____ WATCH:____ COMPASS:____ FLASHLIGHT:____
TRANSPORTATION:____ FIRST AID KIT:____ FLYER:____ WHISTLE:____

INDIVIDUAL CHECKLIST:
APPROPRIATE CLOTHING:____ WATER:____ SPECIAL EQUIPMENT:____ 

UNDER NO CIRCUMSTANCES SHOULD ANY VOLUNTEER TOUCH OR DISTURB POTENTIAL EVIDENCE.  
MARK WITH POLICE TAPE.  SECURE AREA.  RESTRICT ACCESS.  CALL FOR APPROPRIATE PERSON-
NEL.  YOUR INVOLVEMENT IN THIS EFFORT IN NO WAY ALLOWS YOU TO IGNORE OR VIOLATE ANY 
LOCAL, STATE, OR FEDERAL LAW.

BRIEFED BY:_________________________________________________

White copy - Analysis                       Yellow copy - Historian                       Pink copy - Law Enforcement                       Gold copy - Law Enforcement

Press Hard
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Recovery Center Control No:________                                   Press Hard                                           ________Control No________

SEARCH TEAM ROSTER
TEAM NO:________________     SECTOR NO:_______________          RADIO:________________________ 
TEAM LEADER:________________________________________    MOBILE PH:_____________________
Recovery Center Contact:____________________________________       Phone:________________________
Time Out:________________________________                   Time In:________________________________

                NAME                                          ADDRESS                                  PHONE
1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

Do not touch, lift, or move any evidence in any way!

Returned to Recovery Center Debriefer:  Radio____ Phone____ Roster____ Map____ Team Photo____ 
Marking Tape____ First Aid Kit____ Flashlight____ Compass____ Other____

White copy - Analysis                       Yellow copy - Historian                       Pink copy - Law Enforcement                       Gold copy - Law Enforcement

Press Hard
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SEARCH TEAM STATUS BOARD DATE:_________________________

Search
Sector

Team
Number

Team
Information

Special
Assignments

Briefed
By

Time
Out

Field
Calls

Special Tasks
Requested

Time
In

Debriefed
By

R-056 023 Leader: Johnson
Cell#: 555-8447
8 team members

foot search Bob 9:00A 1:12P
2:30

Dog Team
none

3:45P Carol

R-067 025 Leader: Smith
mobile#:555-9078
12 team members

horse search Ted 10:00A 10:30A
3:30P

none
Air Search

4:50P Alice

R-098 024 Leader: Gonzales
cell#"555-3456
7 team members

Canoe search Ted 10:30A 2:45 Tiffanie

Teams Today:_____________ Searchers Today:____________

Teams to Date:_____________ Searchers to Date:____________
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MISSING CHILD - REWARD: $50,000*
Laura Kate Smither (12 year old girl)

Friendswood - Alvin Area, Texas
Off Moore Road and Ware Dairy Road (near FM528)
Last Seen:

Jogging, Thursday,April 3, 1997, 9AM

Physical Description:
5’3"; 98 lbs (44.5 Kg)
Braces; Fair Complexion
Long Curly Dark Hair; Green Eyes

Clothing Description:
Black T-shirt
Dark blue soccer shorts
White running shoes

Priendswood Police Department 
(***)***-****, Case 97-***

Laura Recovery Center (***)***-****
* for information leading to the safe return of Laura

RECOMPENSA: $50,000* Niña Extraviada - Téjas
Laura Kate Smither (Niña de 12 Años)

Ultimo Vista: corriendo a las 9 AM el Jueves 3 de Abril
Descriptión:
Altura 5’ 3"; Peso 98 lbs (44.5 Kg)

Frenos en los dientes; Tez Clara
Pelo Café Obscuro - Largo y Rizado; Ojos Verdes

Descriptión de Ropa:
Playera negra; Pantelones cortos azul obscuro

Zapatos de correr blancos
Departamento De Policia De Friendswood

(***)***-****
Centro de Recuperación de Laura

(***)***-****
* para información que resulta in el retorno seguro de 

Laura
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RESOURCE LIST ENTRY

DATE:______/______/______ TIME:______:______ AM / PM      LOCATION:___________________________________

CONTACT NAME:_______________________________________________________ OFFERED:____ RECEIVED:____

BUSINESS NAME:____________________________________________________________________________________

ADDRESS: ___________________________________________________________________________________________

CITY:______________________________________________________ STATE:__________________ ZIP:____________

HOME PHONE:(____)_____________________________ WORK PHONE:(____)_________________________________

FAX PHONE:(____)______________________________ E-MAIL:______________________________________________

DESCRIPTION OF RESOURCE: _______________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

TYPE OF RESOURCE:        SEARCH TEAM RESOURCE____                                         DONATED EQUIPMENT ____
DONATED SUPPLY____                                TECHNICAL SKILLS_____                              LOANED EQUIPMENT____

RESTRICTIONS: _____________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

_____________________________________________________________________________________________________

PREPARED BY:
NAME:_____________________________________________________  PHONE:(____)____________________________

Entered to Computer by: ____________________________  DATE:______/______/______ TIME:______:______ AM / PM
File this form with Historian

�w����*%,?$�Y�Y:A .k$2�?3W*c,917$�&@�|�¨=0É�<>=?,98��%3�,?B
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Interview Guidelines

All Information is Important
• Don’t frustrate the source.  You may need to 

jog their memory by asking questions.  Even 
visions need to be reported as they may en-
able law enforcement personnel to think of 
something new. 

Notes
• Take notes to keep you on track.

Repetative Persistance
• Repeat your question to bring the person 

back to the questions you need answered.

Guidelines to Extract Needed Information

1.  Personal Information
• Name
• Phone Number
• Address
• If they prefer to be anonymous, that is OK.

2.  Key
• Identify the key item(s) they are trying to tell 

you.

3.  Where
• Have they seen the missing child?

4.  Details
• Get an address or the name of a building

5.  Directions
• Name of the street
• Use landmarks
• If they are unsure:
• Pinpoint the location where they were, then 

get directions to where they went from there
• Road number
• Nearby business name or sign

6.  Vehicle (CYMBOL)
• Color
• Year
• Make/Model
• Body style (2 door, 4 door, van, hatchback, 

sports utility, ...)
• Other details (bumper sticker, dents, rust, 

striping, ...)
• License number

7.  Description
• Describe a person from the head down:

• hair - color, length, bald, ...
• glasses?
• beard, moustach

• Describe clothing from the outside in:
• jacket
• shirt
• pants
• shoes, ...

• If they got a good look:
• tatoos, scars, eye color, ...
• color - white, hispanic, black, asian - 

ask for specifics such as light skinned 
black, tanned white, ...

• male / female
• height
• weight
• build

8.  Time
• How long ago?
• What time was it?

9.  Repeat all Information back to Source

�w����*%,9$/Yad5A ²³<>=?$7,95M��$2Æ�§�*%�°��$2���|<%$2�
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Received Threat Description
Use Information Control Form to document a received threat.

Note exact wording of threat if possible.
Note any accents.

Describe the callers voice as:

Calm Nasal Raspy
Angry Stutter Deep
Excited Lisp Ragged

Slow Laugher Distinct
Rapid Crying Slurred

Whispered Clearing throat Disguised
Soft Deep breathing Accent
Normal Cracking Voice Familiar (who?)
Loud

Background Sounds:

Street noises Office machinery Local
House noises Factory machinery Long distance
Animal noises Car Engine Phone booth
Restaurant noises Motor Aircraft

Voices Clear Other
PA System Static

Threat Language:

Irrational Well spoken (educated) Taped
Incoherent Foul or vulgar Prepared
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Phone Procedure - Prepared Answers

Answer Phone: ________________ Recovery Center

If Caller Asks:                              You Can Answer:
Anything new? Nothing new, do you have any information or can you volun-

teer?

How do I get there, what is the ad-
dress?

______________________________________________
______________________________________________

How much is the reward? $---

Who do I make a check out to? There are 2 funds, one for the reward and one to cover ex-
penses of the Recovery Center.  For the reward fund make 
checks out to ____ ____ Reward Fund.  For the expense fund 
make checks out to ____ ____ Recovery Expense Fund.  Ei-
ther drop them by or mail to:  

______________________________________________
______________________________________________

How can I help? Foot search:
• must be 18 years old or older
• wear protective gear (hat, long pants, boots, sunscreen, 

bug spray, gloves, walking stick, fanny pack, ...)
• expect to get here and wait, the search is very detailed, 

teams come in and out at various times
• actual search crews can be in the field from 1 to 4 hours
We need for the search effort:
• first aid supplies, fruits, vegetables, sunscreen, crackers, 

cookies, drinks, bottled water, napkins, paper towels, toi-
let paper, soap

We need for the Recovery Center:
• office paper, permanent markers, posterboard, highlight-

ers, pushpins, paper clips
We need the following services:
• computer expertise, FAX outs from home computers or 

FAX machines
We always need prayer

What can children do? At home, at Scouts, at School (not at the Recovery Center)
make ribbons to wear, put ribbons on trees

Does the family need anything? We believe the family has all the material goods they need, 
but they need your prayers.
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Date:___________________________                                                  Time:________________________                                               Page:______________________________

SIGN IN - Please PRINT and fill out completely

  Name Address Phone Number Duty
1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

Entered on computer by: _______________________________________________________________________   File This Form with Historian
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Recovery Center Control No:________                                                    Press Hard                                                         ________Control No________

VOLUNTEER REGISTRATION AGREEMENT
This form must be completed by each civilian volunteer - Photo ID required

 
DATE:______/______/______                 TIME:______:______ AM / PM                LOCATION:______________________

NAME:_________________________________________________________ M____ F____ D.O.B.:______/______/______

ADDRESS:_____________________________________________________ DL / ID#:______________________________

CITY:______________________________________________ STATE:____________________ ZIP:________________

HOME PHONE:(____)_________________________________ WORK PHONE:(____)___________________________

E-MAIL:_____________________________________________________________________________________________

PHYSICAL PROFILE: HEALTH: (circle one)

HEIGHT:___________________ POOR           FAIR          GOOD          EXCELLENT        

WEIGHT:_________________ SPECIAL CONSIDERATIONS:

HAIR:_____________________ _______________________________________________

EYES:____________________ _______________________________________________ 

COMMUNICATIONS:

MOBILE PHONE:_____________________________________ RADIO - CHAN:_____________ FREQ:_____________

VEHICLE - YES:____ NO:____ MAKE:_____________________________ YR:________ LIC#_____________________

SPECIAL EQUIPMENT or TRAINING__________________________________________________________________

EMERGENCY CONTACT:

NAME:_______________________________________________________  PHONE:(____)__________________________

NOTICE: Your service is appreciated.  It is essential that you follow some basic ground rules.
1.  You must follow any and all instructions given by designated personnel.
2.  Personal safety is a priority for everyone.  Do not attempt a task for which you are not physically or 

emotionally prepared.  Do not leave the team or area to which you are assigned.
3.  You must check in each time you return from a field assignment, and account for any special 

equipment issued.
4.  With this type of effort, there is an element of risk.  You agree to be responsible for your own safety 

and conduct.  Should you be injured, no individuals or groups connected with this effort will be held 
liable.

5.  YOU agree that any information acquired during your service will not be used for any personal profit 
or gain and will be held confidential.

6.  Your involvement in this effort in no way allows you to ignore or violate any local, state, or federal 
laws.

I agree to follow the above ground rules

SIGNATURE:_______________________________ WITNESS:_____________________________

White copy - Analysis                       Yellow copy - Historian                       Pink copy - Law Enforcement                       Gold copy - Law Enforcement

Press Hard
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Date:___________________________                                                  Time:________________________                                               Page:______________________________

DONATIONS - Please Print

  Name Address Phone Number Item
1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

Entered on computer by: _______________________________________________________________________   File This Form with Historia
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April 8, 1997
Press Release: Immediate Contact: Mr. Director
Website: www.************.com Phone: (***)***-****
e-mail: ********@*******.com Fax: (***)***-****

SEARCH CONTINUES FOR MISSING 12 YEAR-OLD FRIENDSWOOD GIRL

Friendswood, Texas - More than a thousand volunteers, including Scouts, Texas State Guard, Coast Guard, 
and community members have been working around the clock since Thursday, April 3, searching for 12- year-
old Laura Smither.

The serenity of this small suburban town was shattered that morning, as word began to spread that Laura had 
vanished.  Laura, schooled at home, had gone for a short jog at 9:00 AM near her rural home on Ware Dairy 
Road in the Friendswood/Alvin area (20 miles Southeast of Houston).  She was expected back in twenty min-
utes.  When Laura did not return by 9:30 AM, her parents, Bob and Gay Smither,  knew that something was 
very wrong and immediately notified the Friendswood Police Department.

The outpouring of support from the community has been incredible.  More that 50,000 flyers have been distrib-
uted by volunteers throughout the community.  Thousands of yards of yellow ribbon, cut by volunteers (many 
of them children), blow in the wind.  Tied around trees and car antennas, they show this community’s faith and 
hope for Laura’s safe return.

Search teams are being dispatched continuously from dawn to dusk, braving treacherous conditions.  In addition 
to the Texas State Guard and Coast Guard, there are more than 1,000 local volunteers helping in many ways.  
They staff the Laura Recovery Center, and search on foot, horseback, in all-terrain vehicles and with dogs in the 
surrounding area and bayous.  Telephone lines are constantly in use, with incoming tips, faxing Laura’s flier 
and volunteers calling out asking for donations and assistance.

Laura is a member of the Girl Scouts, and her mother is the troop leader.  The Girl Scouts’ national office is 
faxing flyers to every troop in the country.  The Smither family is a member of their local Episcopal Church of 
the Good Shepherd.  Episcopal dioceses and churches nationwide also are receiving fliers trying to help find the 
girl.

Laura was last seen wearing a black T-shirt, dark blue shorts and white running shoes.  She is 5’3" tall and 
weighs 98 pounds.  She has long curly dark brown hair, a fair complexion, braces and green eyes.  A $50,000 
reward is being offered for information that leads to Laura’s safe return.  Anyone who can provide information 
is asked to call the Friendswood Police Department at (***) ***-****, (***) ***-**** or 1-800-***-****.

News coverage is continuing to spread, as is the search.  Thanks to the Internet and fax machines, fliers are rap-
idly moving across the United States, Mexico, Canada and Europe.

Donations are needed to cover both recovery expenses and to fund the reward.  There are separate accounts for 
each of these.  To make a donation to the reward fund, checks should be made payable to the Laura Smither Re-
ward Fund at P.O. Box 34, Friendswood, TX 77549. Checks for the recovery expense fund should be made pay-
able to the Laura K. Smither Recovery Expense Fund and mailed to the same address.

Anyone interested in volunteering in any capacity can call (***) ***-****.

The volunteers are committed to the search until Laura is brought home.  For this Texas community, Laura 
Smither has become every family’s child.

�)�|�W*c,?$�Y 
'A�¬�(+B��%�|$�}�,9$2�9�k.k$7�|$2(��¨$



� 	 � � � � � ��� ��� l)f'h

���
	���
�������
������
	���	���
���	 �"!$#%	 &'�(	 �*)+���(
��,	,��
-�.	 �*�/�'	102)+���")/&43��,�5)/687:9
!#"%,93W*%��"%3W*%=;�¨$A(+,-1-"�3W�z$7,-(6=9��3�<c� =9"%$�.0$214365�$7,98�:;$2<>=?$7,U�®=-(�@�B *��®=#"c(a5W$Ï(/���|,9$21 =U���|<%$�3+�@173WB�B *%<c�|12(6=?�|3W<�Æk�µ=9"�=?"c$
B��|�9�?��<%�D1-"%�|�|�C= ���y(+B��|��8`(W<c� ,?$2�|(+=?�|5W$A�7Z�²»=��|��,9$2173WB�B�$7<c��$A��=9"c(6=�(+�%�c,?3��%,?�°(6=9$ �z$7,-�¨3�<%<%$2�)�z$�(W�9�¨�|�W<%$A�D=?3£"c(W<c���|$
�y(+B��|��8����°(+�°�?3W<��%*�=?�|$2�2ZU:U(+,9$4�´*c��=?"%3�*%�W">=kB *c�¨=0�z$��W�|5W$7<�=?3 =?"%$'�?$7�|$214=?�|3W<£3+� ��$2,9�?3W<��#��<M5W3���5�$2��Æk�µ=9"�=9"%$2�?$'��*�=9��$A�7Z
����)+�1)+��t��5)c3��$�"�e�,	"���1t.���")c3-&�0 	 &'�(9
!#"%�|<%���U=93�,?$2B�$7B �z$7,�A

� �c(+B��|��8�&O�°(+�°�¨3�<C= ��B�(+�|<¶�%*%,9��3>�¨$��°��=?3`173>3�,9�%��<c(+=?$�143�B_B/*%<%�°17(+=?�|3W<c� �z$4=®ÆU$7$2<�=9"%$�.k$A14365W$2,?8�:;$2<�=9$7,'(W<c�
=?"%$_�y(+B��|��8�Z_Ä«36Æ;$25W$2,2C��W$2$7����<�B���<c� =?"c(+=�(W��� B�(�?®3�,���$217�|�?��3�<c��B *c�¨=���$�B�(W�%$_�M8D=9"%$�¸«�|,9$21 =93W,�3W,�3W=?"%$2,
��$2�?����<c(6=9$2����$2,9�?3W<%<c$7� Z

� !#"%$D�y(+B��|��8�Æk���|�«�z$`365W$2,?Æk"c$7�|B_$A��Æk��=?"¡ÆU$7�|�«Æk�°�¨"c$7,-�7CUB�$2���°(¹(6=?=?$7<>=9��3�<OC 5W3���*%<>=9$7$7,-�2C;�c�?8�1-"%�°17�2CU17*%,?�|3W*��
3W<%�|3M3W�W$2,9�2C6$4=-1+Z�¬M"%�|$7�°��=9"%$7B (W�ÂB *c1-"�(�� ��3>�?�?�|�%��$�Z !@,98'=93 �W$7=Â('�?$7<c�?$03+��=9"%$0�y(WB_�|�|8<= ��Æk�°�?"%$2��(W<c��$A�®=-(+�%�|�|�?"
���|B��µ=-�0(W12143W,-���|<%�W�|8WZ

� }�,?365M�°��$�(W�9�¨�°�®=-(+<c17$«=93��y(+B��|��8���<D(+,9$2(��Â=9"c(6=0"�(a5W$���$2$7<����°�¨,9*%��=9$2�£�M8�,?$A14$2<�=k$25W$7<>=-�7C�� Z $�Z�Cc<%3W,9B�(+�I(W14=?�|5>��=?�|$2�
(+<c�£��*�=9��$A�0�¨*�1-"£(��#B_$A(+�°�7C%17��$A(+<%�|<%��C��|(W*%<c��,98WC��%�|�|�O�c(a8M��<c�cC�1-"%�|�|�%12(+,9$WCM=9,9(W<c�¨�z3W,?=9(+=?�|3W<OCM$7=91+Z

� .k$7B�$7B/��$2,/(+=/(+�|��=9��B�$2�'=?"c(+= =9"%$��y(+B��|��8¶�°�'�|<	(D�´,-(+�W�|�|$�143�<c����=?�|3W<OZDÉ�B�3+=9��3�<c� �%�|�?�%�°(a8W$2�¶Æk�|�|�Â56(+,98`�´,93WB
(+<%��$7,U=?3���$2<%�|(W�@(+<������°�?��$2���|$4�®Z�!),?8�=?3��|�|�¨=?$2<£Æk��=?"c3W*�=0����5M�|<%�_(���5M�|17$WZ

� ¬>=?$2�c�@�?"%3W*c�|���z$�=-(+�W$2<�=?30��*%�|�%$ =?"%$Â�y(+B��|��8���< �%,?$A�¨$2,?56(+=?�|3W<�3+��=?"c$�B��|�9�¨�|<%�«1-"c���°�>= �O�z$7,-�¨3�<c(+�+��=?$2B��7Z :;��3W=?"%�|<%�cC
��$A�%���|<%�cCA=?3����|$4=9,?�|$2�2C2=?368��7CA$4=-1+Z|C6�¨"%3�*%�°���z$Â�c,?$A�¨$2,?5�$2��(+<c��(�1714$A�?�@�¨"%3�*%�°���z$Â,9$2�¨=?,9�°1 =?$A���´3W,O�´*%=?*%,9$��|<>5�$2�¨=?�|��(+=?�|5W$
*c�¨$�Z�¬M$7$��%,9$2�?$7,956(6=9��3�<�3+�w$75M�°��$7<c17$WZ

� É�<c143�*%,-(+�W$Â=?"%$U�y(WB_�|�|8�=?3��z$2143�B�$U�c,?3>(W1 =9��5�$7�|8���<M5W3���5�$2��Æk��=?"_=9"%$#<%$7Æ0� B�$2�%�|(��|</3�,9��$2,@=93�B�(W��<>=-(+�|</�z3��?�µ=9��5�$
14365W$2,9(W�W$k3W�O=?"%$��?$2(W,91-"OZ ²»�wB_$A���°( �°�#<%3+=#�%,93W�z$7,9��8��|<��´3W,9B�$2�ICM=9"%$7�|,k14365�$7,-(+�W$kB�(a8�<%3W=U�z$���$2<%$4Ìz14�°(+�z=?3_=?"c$
365W$7,-(+�|�z$�@�3W,?=2Z�¬M$7$'^`$2���°(

� É�<c143�*%,-(+�W$�=?"c$��y(+B����|8�=93��¨$2$7���?�%�|,?��=?*c(W�O(+<c��$7B�3W=?�|3W<c(W�O�¨*%�c��3�,¨=AZ
� .k$2173WB�B�$7<c�`=?"c(+=�=9"%$_�y(+B��|��8`5M�°�¨��=�=?"%$�.k$A14365�$7,98�:;$2<�=9$7,�Æk"%$2<��z3��9�¨�|�%�|$WZ�!#"c�|��Æk�|��� �z3M3��¨=��y(+B����|8`�?�%��,9��=
(+<c��$7<%$2,?�����2$�5�3W�|*%<>=?$2$7,-�7Z

� ¬�14,9$7$2<�B�(+�|�z�´3W,U=?"%$��y(WB_�|�|8��µ�w,?$AÖ>*%$2�¨=?$A��=?3���3��¨3�Z 	;$�3�<��W*�(+,-�Õ�´3�,U�|<c(W�%�%,93W�%,9�|(+=?$���$7=¨=?$2,9�#(W<c�����µ� =-�7Z�¬�(a5�$
�´3W,k�°(6=?$2,2Z

� !#"%$��y(WB_�|�|8�B�(a8¶�z$�*%<c(aÆ#(+,9$�3W�«(W1 =9��5M��=?�|$2�/�W3���<%��3W<	3�*�=9�?�|�%$�=?"c$7�|,_�?�%"%$2,?$�C�(+<c�	173W*%�°�¶�´$2$7�#�|�?3W�°(6=9$2�¹(W<c�
*%<%�|<��´3W,9B�$2�IZ 	U$'(W�#�|<��´3W,9B�(6=9��5�$�(��#��3>�?�?���c��$�Z

� ²»=«�|�05W$7,98��|B���3�,¨=-(+<>=k=?3��%,?3W=?$A1 =k=?"c$'�y(+B��|��8��´,?3�B �y(W�|�?$�,9*%B�3W,-�#=?"c(+=«Æk�|���)3M1214*%,���*%,9��<%���?$2(W,91-"£3W�z$7,-(6=9��3�<c�2Z
·k��5M�|�?$�=?"%$2BÕ=?"�(6=0*%<>=?�|�¶143W<%Ìc,?B�$A�IC�<%3�,9*%B�3W,#�|�k=?3���$��z$7�|�|$75W$A�IZ

� É�<c143�*%,-(+�W$'=?"%$_�y(+B��|��8D=93�$A�®=-(+�%�|�°�¨"�(�5M�°�¨��=?3�,�(W<c�`�%"c3W<%$��|3W�cC����Ï=9"%�°��"c(W��<%3+='(W��,9$2(���8��z$7$2<��%3W<%$_�M8��|(aÆ
$7<��´3�,917$7B�$7<>=2Z

� ¸«$2��$2<c���|<%� 3�<�=?"%$��y(+B��|��8�(W<c��=?"c$�(WB_3�*%<>=;3W�OB_$A���°( (6=?=?$2<�=9��3�<�=?"c$Ï,9$217365W$7,98 $ @z3�,¨=U,?$A14$2��5�$2�2C�(',93�(���1-"%$21-�
B�(a8��z$k��$2�?�|,9(W�%��$#(6= =9"%$U�y(+B����|8�= � "c3WB�$WZ 	;$k�?*%,9$Â=93�173M3W,-����<�(6=?$;=?"c$U,93�(�� 1-"%$A1-��Æk�µ=9"/�|3�17(W�>�°(aÆ�$2<��´3W,-14$2B�$7<>=
(W��<%$7�|�W"M�z3W,-��(W<c��3+=?"c$7,-��B�(a8��z$���<�143W<M5�$7<%�|$7<c17$2�IZ_!#"%$_�y(+B��|��8�12(+<��%,?365M�°��$�(��|�|�¨='3+�Â�´,?�|$7<c�c��(+<c���y(+B��|��8



� � �@¥%Á	x 
´� �;xy¥%xÑ¿2szp 
6�®d

=?"c(+=k=?"%$28�Æ#(+<>=k�c(W�9�¨$A�IC%3W=?"%$2,?Æk�°�¨$�=9"%$�17,?$2Æ�12(+<D17(W���I=9"%$�"%3�*c�¨$�C%�z$4�´3W,9$�(+�|��36Æk�|<%��5M�|�?��=9�2ZÂ!#"%$��%,9$2�?$7<c17$�3+�
=?"%$�,93�(���1-"%$A1-���|�2C%�|<£��=9�?$7���®C%$2<%3W*%��"�=93�"%$7�|�D�W$7$2�£(aÆ#(a8�=?"c$�B_$2,?$2��8�14*%,9��3�*c�2Z



� � j � � ��� 	 � h � h � � � �

 }t �`�*�.t-�"!�3:� 	�t�� 6 !U��� 
�0 �"��t-��	1��
��"��t-��	 �R�/�'	��,	v��
-� 	1)/��)+�*�.	 �"!l)/0 �

-�"��t-&'����
 ��	�	�� ��
-0 �'	��(	 &'�N6�
B��t�6}68	�3�t-6k��
��5&'� 	�689

�aFDE XZO � ]kJ�| zUH�_n| [q]%_U]`hROw� Ow_£S

·Õ,9$7Æ#(+,-���|� 3W<%$�3+�#=?"c$�B�3��¨=/�z36Æ;$2,¨�´*c�ÂB�3+=9��56(6=93W,-���´3W,_(+<M8W3�<%$�Æk��=?"	�z$7,?=?�|<%$7<>=_��<��´3�,?B�(+=?�|3W<¶=?3�143�B_$��´3W,9ÆU(W,9�
(+<��£(��?�?�°�®=0(+<£�|<>5�$2�¨=?�|��(+=?�|3W<OZ !#"%$7,9$4�´3�,?$�C%(W�k�?3M3W<D(W�#�z3��9�¨�|�%�|$WC��´*%<��%�0�?"%3W*%�°�£��$'�?3W�|�°14��=?$2��=93�(W17Ö>*%�|,9$�(��#�|(W,?��$�(W<
(+B�3�*%<>=#3W�w,9$7Æ#(+,-��B�3W<c$78�(��U�|�#�´$A(W�?���c��$�Z !#"c$7,9$�(W,?$��c(��¨�°17(W���|8�=®ÆU3/=®8M�z$2�k3W�w173W<>=?,9���c*�=?�|3W<c�BA

� ·�,9$7Æ#(+,-�'�c��$A���W$#�°��(�Æk,?��=¨=9$7<��W*c(W,9(W<>=?$7$U�®=-(6=9��<%��(W<�(WB�3W*%<>=���3W<�(6=?$A�/(W<c�_143W<����µ=9��3�<c� ,9$2Ö>*%�|,?$A�'�´3�, �´*%<c���|<%�cZ
	;$A17(W*c�¨$�3W� =?"%�°���W*c(W,9(W<>=?$7$�C%,9$2143�,9�c�g�?"%3W*%�°�D�z$/��$7��=�3W<`(+�|�w�%��$A���W$A�7Cz�|<c14�|*c���|<%��(W���w�|��B���=9(6=9��3�<c�2Z�ª03��´*%<c�%�
1-"c(+<%��$�"�(+<c�%�0*%<>=?�|�)143�<c����=?�|3W<c�k(W<c�£���|B��µ=-(6=9��3�<c�0(+,9$�B�$4=2Z;É Ã%(+B��%�|$:A ��)/6/6 �
t-!�����������������
��1���
	2t��"�,	"�"�{t�&<7
�,
-&'��)v��� )v
�& 
���9/9/9

� :U(W�?"D173W<>=?,9�|�%*�=?�|3W<��0Æk�|���)B�(W�W$'*c�`(��¨B�(W���|$7,0�z3W,?=?�|3W<�3W� =?"%$/,?$2ÆU(W,9���´*%<c�c�7Z�:;3�<c�¨�°��$2,9(+=?�|3W<DB *c�¨=«�z$ ����5�$7<
�´3W,014*��®=93M�%8�3+� �?(W�|���´*%<c�c�7Cc�?"%3�,¨=?�Ñ=9$7,9B£C�(��#Æ;$2���O(��#��3�<%�+� =?$2,?BDZ

·0<>=9�|17���c(+=?$��z3+=9$7<>=?�°(+�I�%,93W�c��$2B��k�?$4=?=?�|<%��*%�£�c(+<c��(W12143�*%<>=9�U��$A17(W*c�¨$�3W�)=-(6Ã�,9$7�z3W,?=?�|<%��143W<��¨�°��$7,-(6=9��3�<c�2Z

� ¬M$7$2��(W�9�¨�°�¨=9(+<�14$��´,?3�BÕ�|(aÆÏ$7<��´3�,917$7B�$7<>=AZ
� !)(+Ã���$2�%*c1 =9���%�|�|�µ=®8�3+�w173W<>=?,9�|�%*�=?�|3W<��#�|�k(�Ö>*%$A�®=9��3�<c(+�%�|$��¨��=?*c(+=?�|3W<OZ
� ¬M$4=O*%�'(#�z3�(W,9��=930(W��B��|<%�|�¨=?$2,I=?"c$2�?$ �´*%<c�%�2Z@²®�%$2(+�|�|8WCA��3�<%�+� =?$2,?B 17*c�¨=?3���8�3+�>=?"%$A�¨$ �´*%<��%�)�?"%3�*%�|���z$ =?,-(+<��®�´$2,?,9$2�
=?3_=?"%$��y(WB����|8WZ

.k$2ÆU(W,9��B_3�<%$78��?"%3�*%�|����$���$2��3>�¨��=?$A���|<D( �c(W<%��Z ²»�w(_1-"%$21-�M�|<%��(W17173W*%<>=U�|�#*c�?$2�OC%(6=#��$A(W�¨=0d/�?����<c(6=9*%,?$A�;�?"%3�*%�|���z$
,9$2Ö>*%�|,?$A�IZ ^�3W<%$28���3�<c(6=9$2���´3W,k,9$7Æ#(+,-���%*%,9�z3��?$2�k�?"%3W*%�°����$���$7��=0�?$7�c(W,9(+=?$��´,?3�B 3+=9"%$7,0�%3W<c(+=?�|3W<c�2Z
��3W*£B�(a8�Æ#(+<>=;=93��¨$7=#*c�D(�173WB�B��µ=?=?$7$�=93_B�(W�W$���$217�|�?��3�<c�#,9$7��(W,9�%��<%� =?"%$�,9$7Æ#(+,-�IZ !#"%$�143WB�B���=¨=?$2$'143�*%�|�£143�<c�?�|�¨=
3+� [_B�$7B �z$7,-�U��3W<c$��´,93WB =?"%$�.k$A14365�$7,98�:;$7<>=?$2,2C�3�<%$��´,?3�B =?"%$��y(WB����|8WCc(W<c��=?"%$�=9"%��,-���´,?3�BÕ�°(aÆ $7<%�´3W,-14$7B�$2<�=AZ
·Å,9$7Æ#(+,-��B�(a8£"%$7�|���|<�,?$A14365W$2,?�|<%��(�B��|�9�?��<%��1-"c���°�D3W,0�|<`(+�c�%,?$2"%$7<�����<c��(+<`(+����*c14=?3�, ©6B *%,-��$7,9$7,AZ;¬M3�B�$73W<c$'Æk�µ=9"
�M<%36Æk�|$2����$_(W��3�*�=�=?"%$��?��=?*c(+=?�|3W<¶B�(a8`��$�,9$7�|*c14=9(+<>=�=?3`173WB�$_�´3W,9ÆU(W,9�OZ�.0$2(W�?3W<����´3W,�=?"c�|��,9$7�|*c14=9(+<�14$�(+,9$�5a(W,?�|$2�OC
�%*�=«(_,9$7Æ#(+,-��B�(a8��%,9365M�|�%$«=9"%$���<�14$7<>=9��5�$�=9"%$78�<%$7$A��=?3�365W$2,9173WB�$«=9"%$7�|,k,9$7�|*c1 =-(+<c17$WZ
:U(+,9$�B *��®=_��$�$4Ã�$7,-14�°�¨$A����<¹B�(+<�(+�W�|<%���°(+,9�W$��?*%B��'3W�0,?$2ÆU(W,9��B�3W<%$28WZ�²³<¹=9"%$�,9*c�¨"¶=93���3`=?"%�|<%���/Ö>*%�|1-�M�|8WCw�µ=_�|�
=?$2B���=?�|<%��=93*?®*c�¨=��%*%=
	 ! ! ! ! ��� � ¥�r6t (6=«=9"%$'=93W��3W� ( �c8W$2,2Z0!#"%�°�«12(+<��|$2(��£=?3�*c<c��$2�?�|,9(W�%��$�,9$2�?*%��=9�2Z ²³B�(W�W�|<%$
=?"c$��´3W�|��36Æk�|<%���914$7<�(+,9��3�A'(��z3M3W,9��8�=?"%3�*%�W">='3�*�= �c8W$2, (+<c<%3W*%<�14$2��(D�°(+,9�W$�,9$7Æ#(+,-���´3�,�=?"%$�,?$7=?*%,9<¶3+�U=?"%$�B��°�?�?�|<%�
1-"%�|�|�OC�(��c(��?�?$7,9�M8��|3M12(6=9$2�#=9"%$/1-"%�|�°�>= �0��3���8�Cc=9"%$'�c(��?�?$7,9�M8�14�°(+�|B��k=?"c$',?$2ÆU(W,9�OZÂ²»� =?"c�|�«�|��(+�|��36ÆU$2��=?3�"�(+�%�z$7<OC�=?"c$
,9$7Æ#(+,-���°�#<%3+=«(a56(+�|�°(+�%�|$«�´3�,#=?"%$�<c$4ÃM=0�%"c(��¨$�� =?"c$'(+,9,?$A�®=k(+<c�D173W<M5M�|14=?�|3W<�3W�)=9"%$�B *c,9��$2,?$2,2Z
· ,9$7Æ#(+,-�`�°�'(D56(+�|*c(+�%�|$_=?3M3W� Z �v�lt$� 	 �Nt�� 7¤)+� 
���	 � 	�7���)/�n)+��0�t�&<7�t��(
��"!$���
t-�n)/� ��	 ��t�� 	e���56/6 !¤0�t�&�t 34	�7��C?®*c�¨='�|����$
3+=9"%$7,k56(W��*c(W�%�|$�=93M3W�°�7Z
¸�$214�°�?��3�<c����<M5W3���5M�|<%��=9"%$/,9$7Æ#(+,-�`�?"%3W*c�|����$�143M3W,-���|<c(6=9$2���z$4=®ÆU$7$2<`=9"%$_.0$214365�$7,98�:;$2<>=?$7,ACI�°(aÆÅ$7<��´3�,917$7B�$7<>=2CI(W<c�
=?"c$��y(WB����|8WZÂ¬M�|<c17$��°(aÆ0��56(+,98��´,93WBÕ�¨=9(6=9$4� =?3W�»�¨=9(+=?$WC>=9"%�|�#��*%�°��$�12(+<£3W<%�|8����°�?17*c�9�;��$7<%$2,9(W�I143W<��¨�°��$7,-(6=9��3�<c�;��<M5W3���5M�|<%�
,9$7Æ#(+,-�%�7Z�&O3�17(W�«�|$7�>(+�«173W*%<c�?$7�«�|��,?$AÖ�*c��,9$2�IZg:;3�*%<c�?$7�«�?"%3W*c�|�¯143�<c�?*%�µ=�Æk�µ=9"�3+=9"%$7,�3�,?�>(+<%�|�2(+=?�|3W<c��Æk"c�|1-"�3:@z$2,
,9$7Æ#(+,-�%�7C��?*c1-"D(W�«:;,9��B�$'¬>=?3��%�z$7,-�#3W,k�|3M12(+�O1-"%�|�°�M�ÑÌ�<c��3Wº�14$2�2Z



� � �Â�M¤�¥�
�� �kxypw¥%p)v�xy¥�
 �6�®d

� ¸«$A14�°��$�=?"%$�3��5?®$214=?�|5W$��´3W,#=9"%$�,?$2ÆU(W,9�
!#"%$�,9$7Æ#(+,-��3��5?®$214=?�|5W$�B�(a8�1-"c(W<%�W$�=9"%,?3�*%�W"£=9"%$ ��*%,-(6=9��3�<�3W� (�B��°�?�?�|<%��1-"%�|�|�D�|<c14�°��$2<�=AZÂÉÂ(W,?�|8�3�<OC�=9"%$'3W�
?®$21 =9��5�$
�°���c,?3��c(+�%�|8 q2Îw�¹¿2¥
;»�¶r6�>q2u)r6p�s<; � vaÎ)x 
yt;¾�¿£p)¥%Á�� ��Z�²»��=9"%$_1-"c���°�`�°���´3W*%<c�OCO(+�|��5�$ 3W,���$A(W�ICz=?"c$_3��5?®$214=?�|5W$/B�(a8
�?Æk�µ=-1-"�=93 xypk;»scr6Á	¥%q2xyszp 
y�M¥%twxypw¤¶q2s¶qAÎ)��¥�rara�M¿2q�¥%pwt�vWszp��OxyvWq2xÑs�p s<;0q2Îw�`Ð;��r6¿As�p�s�r�Ð;��r6¿As�pw¿ ��Î)s � � � ZÂ²»�
=?"c$�1-"c���°���°��<%3W=��´3�*%<c��(6� =9$7,'(���3�<%���z$7,9�|3M��3+�;=?�|B�$WCO=9"%$�3W�5?®$A1 =9��5�$/B�(a8`�?Æk�µ=-1-"�=93 xÑp};»s�r6Á	¥�q2xÑs�p 
y�M¥%twxypw¤ q2s
q2Îw��r6�>q2u)r6p�s�; � vaÎwx�
ÑtÂ¾|¿/pw¥%Á	� � ry<%3+=9$�=?"c(+= ¿2¥
;»� "�(W�#�z$7$7<D,9$7B�365W$A�'x Z

� ¸«$A14�°��$�=?"%$�,9$7Æ#(+,-��(WB_3�*%<>=
²»= �°�'�|<c(W�%5>�°�9(+�%�|$_=?3�(���5W$2,¨=9�|�?$�(D,?$2ÆU(W,9���¨*cB =9"c(6= 8�3W*¹��3�<C= ='"�(a5W$WZ�}��|$2����$2���´3�,',9$7Æ#(+,-����3�<c(6=9��3�<c���?"%3W*%�°�¶�z$
��3�*%�%�|$4�³1-"%$21-��$2��=93�$7<c�?*%,9$�=9"%$78£(+,9$�,9$2(W�ÑZ ²»=0�°�k�z$2�¨=k=?3�"c(a5W$�12(W�?"��|<�=9"%$��c(W<%��C%3W,k(_Æk,?��=¨=9$7<z©+�¨�|�W<c$2���%��$A���W$�Z
��<c17$ 8W3�*��%�°1-�D(�,?$2ÆU(W,9��(WB�3W*%<>=2C��¨=?�°1-��=93���=��´3�,�(�Æk"%�|��$�Z�·��¨�|36Æk�|8��|<c14,9$2(��¨�|<%��,9$7Æ#(+,-�DB�(a8£"�(a5W$�=9"%$ $ @z$A1 =�3+�
��$2�|(a8M�|<%� =9�����7Z�} $23W�%�|$�Æk�µ=9" �|<��´3W,9B�(6=?�|3W<�B�(a8���$�Æ#(+��=?�|<%�_�´3W,#=9"%$�<%$7Ã>=0,9$7Æ#(+,-���|<c17,?$A(W�?$WZ

� ¸«$A14�°��$�Æk"%3�Æk���|�O��$7=?$7,9B���<c$�=?"%$�56(+�|�°���µ=®8�3+� (/,9$7Æ#(+,-��17�|(W��B
	U$��?��$A14��Ì�1+Z ��$�"c(a5�$��¨$2$7<	$7Ã%(+B��%�|$2�/Æk"%$7,9$��°(aÆ $7<��´3�,917$7B�$7<>= B�(W�%$�=?"c$£��$7=?$2,?B��|<c(6=9��3�<¶� qAÎ)��vaÎwxy��;�s�;_qAÎ)�
! ! ! !¡t)xy�Oxy¿Axyszp�s<;kq2Îw��! ! � ½ Z

� ¸«$A14�°��$�Æk"c(6=03W=?"%$2,k,?$A�®=9,?�°1 =9��3�<�(+�c�%��8
�%3�,�$7Ã%(+B��%�|$:A0�k<%3W=�=93£(W<M8W3W<c$'��<M5�3W�|5W$2�`��<�=?"%$�14,9�|B_$ �k,?$A�¨$2,?5�$�=?"%$�,9����">=«=?3D1-"c(W<%�W$ =?"%$�(+B�3W*c<�=��k,?$A�¨$2,?5�$�=?"c$
,9����"�=#=93�12(+<c17$7���Â$7Ã��%��,-(6=9��3�<��%(+=?$

� �%3W,9B *c�|(+=?$��¨�z$217�µÌ�1�ÆU3W,-���|<%�/�´3W,#=?"c$ �c8W$2,
¬M$2$7���|$7�>(+�O143�*%<c�?$7�I�z$4�´3�,?$�Ìc<c(W���|�7�|<%��(+<���(���5W$2,¨=9�|�?��<c�_(W<>8�,9$7Æ#(+,-�IZ×·«�|�?3�143M3W,-���|<c(6=9$�Æk��=?"D�°(aÆ�$7<%�´3W,-14$7B�$2<�=0(W<c�
=?"c$��y(+B����|8WZ�!#"c$��´3W�|��36Æk�|<%�Õ�°�#3W<%$��´3�,?B�(6=k8�3W*£B�(a8�ÆU(W<�=#=93�173W<c�?�°��$7,AZ
!#"%$�=93W�£3+�w=?"%$ �c8�$7,k�?"%3W*%�°�£��$'�?"%3�,¨=�A 	 ! ! ! !¡� � � ����½ �

!#"%$ � ,9$4�´$2,9�«=?3�Ìc<%$_�%,9��<>=�(6=�=?"%$_��3W=¨=93WB 3+�Â=?"%$ �c8W$2,BA � 	 ! ! ! !�r6� �/¥�r6t ��x 
�
 �;��Ð ¥%xÑt¢;»s�r � s����A�>vWq2xy��� � �
� q2Îw��tw�>v�xytw�>r � ��x 
�
Ut)�>qA��r6Á	xÑp)��q2s ��Îws�Á�q2Îw��r6� �/¥�r6t�xy¿_Ð ¥%xyt � ¢�q2Îw�>r�r6�>¿2q7r6xÑv+q2xÑs�pw¿�¥�ÐwÐ�
y�
^`(W�W$��¨*c,?$�=?"c$�3+=?"c$7,#,?$A�®=9,?�°1 =9��3�<c�k(+,9$�14�|$2(+,9�|8�Æk,?��=¨=9$7<D(+<c�D(a56(+�|�°(+�%�|$«=93�(+<M8W3�<%$�Æk"c3���<cÖ>*%�|,9$2�2Z

� }w$2,?�|3����°17(+�|�|8�,?$25>�|$7Æ =?"%$�,9$7Æ#(+,-���´3�,01-"c(+<c�W$2�U�|<D3W�5?®$A1 =?�|5W$�3W,0(WB�3W*%<>=2Z

�aFed � �{K*Ow_�M4OWzUH�_n|

� �{)/6/6 ���%)/6/6`��
�0�	1)/& �

É Ã��z$7<c�?$2�£Æk�|�����z$��|<c14*c,?,9$2���%*%,?�|<%�Ó.k$217365W$7,98¡:;$2<>=?$7,£3W�z$7,-(6=9��3�<c�2Z ¬M3����°14��=��´*c<c�%�£=?3Ó14365�$7,�<c3W,9B�(W�«3���$2,9(+=?�|<%�
$4Ã��z$7<c�?$2��(W���?3>3�<�(W���z3��9�¨�|�%�|$WZ�·g�z3W,?=?�|3W<`3W� �´*%<c�%��173W<>=?,9���c*�=?$A�`�¨"c3W*%�°�`�z$_�?$4=�(W�?�|�%$'=?3£14365�$7,0�´*%=?*%,9$/�c���|�|���?*c1-"
(W�#�|�|�W">=9�2C��%"%3�<%$2�2C��%,9��<>=?�|<%��C���(W�2C�$4=-1+Z
·��?$7�c(W,9(+=?$U��3>(+,-�/�?"%3W*c�|�/��$k$A�®=-(+�%�|�°�¨"%$A�'=93'(W��B��|<%�°�®=9$7,�(+<��/���°�¨=?,9���%*%=?$#=?"c$2�?$;�´*c<c�%�2C�"%36ÆU$75�$7, (+,9,9(W<%�W$2B�$7<>=9�)<%$7$A�
=?3��z$�B�(W��$�Æk��=?"£=?"c$'.k$2�?3W*%,-14$ ^`(+<c(W�W$2,U�?3_=?"c(+=«�%(a8�=?3��%(a8�$4Ã���$2<c�?$2�k(+,9$�14365�$7,9$2�IZ
·k� =9$7,«(W���I�c���|�|�«(+,9$��c(W�|�OCc(+<M8�,9$7B�(+�|<%�|<%�/�´*%<c�%�0�?"%3�*%�|�£�z$�=?,-(+<c�¨�´$7,9,9$2��=93_=?"%$�,9$7Æ#(+,-���´*%<��IZ



� � �Â�M¤�¥�
�� �kxypw¥%p)v�xy¥�
 �6�³[

�aFey � LNb H�_£S5OCOCJ �ZhRJ
OCOw� Ow_£S
M � XZOwb�OC]%M4OwM

:;3W<��¨*%��=�173WB���$7=?$2<�=���3�12(+�@�|$7�>(+�@173W*%<��¨$2�@,9$7��(W,9�%��<%�_=9"%$/��$A�¨�|,-(+�%�|����=®8D(+<c�DÆU3W,-���|<%��3+��(�5�3W�|*%<>=?$7$2,«(+��,?$2$7B�$7<>=«(W<c�
,9$7�|$2(W�?$��´3W,9B£Z�·Å�9(+B��%�|$�(+��,?$2$7B�$7<>=#�|�#�|���|*c�¨=?,-(6=9$2����<��w����*%,9$:A 	�
-6 �5&'�(	�	��{��	�3:)+��� � t-�e)v
-& 	N3:� 	�	 0 	 &'� �w
-�"0/Z
· 5W3���*c<�=9$7$2,#(W�W,9$7$2B_$2<>=#12(+<D�¨$2,?5�$��?$75�$7,-(+�z�%*%,9��3>�¨$A� A

� §�(6=?"c$7,0143�B��%��$7=?$��°��$7<>=?��Ì�12(6=?�|3W<£�|<��´3W,9B�(6=?�|3W<£3W<£=9"%$�5W3W�|*%<>=?$2$7,AZ
� ²³<��´3W,9B =?"c$�5W3W�|*%<>=?$2$7,#,9$7��(W,9�%��<%�/,?�°�?�M�k(��?�?3�14�°(6=9$2��Æk��=?"£=9"%$'�¨$A(+,-1-"OZ
� .k$7�|$2(��¨$�.k$217365W$2,?8�:;$2<�=9$7,#�´,93WBÕ�|�°(+�%�|����=®8WZ
� .k$7�|$2(��¨$�(+�|�k,9����"�=-��,?$2��(W,9���|<%��36Æk<%$7,-�?"%���Ó3+���|<��´3W,9B�(6=?�|3W<Ó3W�%=9(+�|<%$A�Ó(W<c�ÓÆ;3�,?�¹�c,?3���*c14=9����$7<%$2,9(+=?$A��Æk"%�|�|$
��<M5W3���5�$2����<�=?"%$'�?$2(W,91-"@Z

� ²³<��´3W,9B =?"c$�5W3W�|*%<>=?$2$7,U=?"�(6=k=?"c$78�B�(a8��z$�$4Ã��z3��?$2��=?3��?$7<c�?�µ=9��5�$���<��´3�,?B�(+=?�|3W<OZ
� ¸«3�14*cB_$2<>=k=?"c(+=U=9"%$�5W3���*c<�=9$7$2,kÆk���|�I<%3+=«�%��5M*%�|�W$��?$7<c�?�µ=9��5�$���<��´3�,?B�(+=?�|3W<OZ

§�(6=9"%$7,9�|<%��143WB��%�|$4=9$���<��´3�,?B�(+=?�|3W<£3W<�=?"%$�5�3W�|*%<>=?$7$2,9�U�°�k�|B_�z3W,?=9(W<>= �´3W,0�?$75�$7,-(+�z,?$A(W�?3W<c�2Z

� ��3W*£B�(a8�<%$7$A��=93�17(+�|��=?"c$'�¨$A(+,-1-"%$7,U=?3���3�B�3W,9$��¨$A(+,-1-"%�|<%�cZ
� ��3W*£Æk���|�O�°(6=?$2,k��$��|<>=?$2,?$A�®=9$2����<�(�143�*%<>=#3W�w"c36Æ B�(+<M8��z$73��%��$��c(W,¨=9�|17����(6=?$A�IZ
� ��3W*£B�(a8�ÆU(W<�=#=93��?$7<���=9"c(+<c��8W3�*�<%3W=?$A�7Z
� ²»=#B�(a8��z$�<%$A14$2�9�9(+,98�=?3�143�<�=-(W14=k�?$2(W,91-"c$7,-��=93���<��´3�,?BÕ=?"%$2B 3+� �?3WB�$4=9"%��<c�cZ
� 	n&<7�
R&�t�6/6 !��U�")/&��,	 t ��7��'� ��
-��� � 02�5� 7�	�� 	 ��� 
D����	 & 34	��U)/&��.
-6 ��	,7¤)/& � 	,t-� ����	 �n
��"�e� �U6�t �W	�&���
�� ��	 0 	 &'� �%)/6/6 �,	

)/&'�(	�� 	��"��	�7 )/&I�/�'	1)v7�	�&��e) 
���t�� )v
�& 
D���/�'
.� 	 �}�

���	�t-� �,�'	�7:9

	U$212(+*c�?$�3W�0=?"%�°�_�|(��®=��z3W�|<�=AC�5W3���*c<�=9$7$2,9�/�¨"%3�*%�°�	�%,9$2�?$7<>=_�?3WB�$��´3W,9B 3+�«�%"c3+=?3�²®¸qr´$�Z ��Z	��,?�|5W$2,B= �'�|�°14$7<��¨$.x'Æk"%$2<
�?*%�%B��µ=?=?�|<%��=?"c$'(+�W,9$7$2B�$7<>=2Z
²³<��´3�,?B��|<%��=?"%$k5�3W�|*%<>=?$2$7, 3+�I,9�|�?��� (+<c�_,9$7�|$2(��¨�|<%�����°(+�c���|�µ=®8/�|����B��z3W,?=9(+<>=AZ)²»=Â�°� �z3��9�¨�|�%�|$#=?"c(+= =?"%$��¨$A(+,-1-"/$ @z3�,¨=��°� <%3W=
(��´3W,9B�(+�M��$2��(W��$7<>=?��=®8WZÅ¬M3WB�$k�¨=9(6=9$2�w,9$2143��W<%�|�7$;=?"c$2�?$#�%$4�y(W14=?3�3W,9��(W<%�|�2(6=9��3�<c�w(+<c�/�%,9365>�°��$U���|B��µ=9$2�_�|$7��(W�M�%,?3W=?$A1 =?�|3W<@C
3+=9"%$7,-�k��3�<%3W=2Z�&O3�12(+�O143�*%<c�?$7�O�?"%3W*c�|�£17(W,?$7�´*%���|8�173W<c�?�|�%$7,U=?"%$��|�°(+�%�|����=®8�,9$7�|$2(��¨$��?$21 =9��3�<�3W�@=9"%$'(+��,?$2$7B�$7<>=2Z
¬M3�B_$�5�3W�|*%<>=?$7$2,9�;B�(a8�=?"c��<%��=?"c(+=2Cc�?��<�14$�=?"%$28�(+,9$�<%3+=k�W$7=¨=9��<%���c(W�|�OCM=?"%$28�36Æk<�=9"%$�Æ;3�,?���c,?3���*c14=9�;=?"c$78��c,?3���*c17$
��*%,9�|<%�`=9"%$�,9$217365W$2,?8�$�@�3W,?=_�?*c1-"�(�� �%,9$2�9�',9$7�|$2(��¨$A�7C �|�°�®=-� 3W�«5W3���*%<>=9$7$7,-� (W<c�¹,9$2�?3W*%,-14$A�7C (W<c�¶=?"c$ ��<��´3�,?B�(+=?�|3W<
3W<�²³<��´3�,?B�(6=9��3�<¶:;3�<�=9,?3��w�c3W,9B��7Z���*%$2�¨=?�|3W<c��3W��
 �%&�	���� �5) � "c(a5�$_12(+*c�?$2���%,93W�%�|$7B���3W<��%,?$25M��3�*c���¨$A(+,-1-"%$2�2Z'²»=��|�
��$A�¨�|,9(W�%�|$�=93�14�°(+,9�µ�´8�=9"%�°�k�|�9�?*%$��,	e��
��,	'��=0��$A143�B_$A�k(_�%,?3��%�|$7BDZ
¬M$2<c�¨��=?�|5W$��|<��´3W,9B�(6=9��3�<�Æk�|���Â��$�"c(W<c���|$2�¶��*%,9�|<%�£=?"%$�3���$2,9(+=?�|3W<�3+�g(�.k$A14365W$2,?8�:;$2<�=9$7,AZ��%3�,�$4Ã%(+B��%�|$WC)B�(W�%�z$7,-�
Æk�|�����M<%36Æ�Æk"%�°1-"�(W,?$A(W�Â"c(a5W$ �z$7$7<£�¨$A(+,-1-"%$2��(+<c��Æk"%�|1-"�"c(a5W$�<%3+=k(+<���=9"%�|�U�|<��´3W,9B�(6=9��3�<�B *c�¨=k��$��W$2��=��´,93WB =?"c$
(+����*c14=?3�,2ZÂ·×B_$A���°17(+�@5W3W�|*%<>=?$2$7,kB�(a8��z$�$4Ã��z3��?$2��=?3�B�$A���|12(+�¹"%�°�¨=?3W,9�|$2�2C%(W��B��|<%�|�¨=?,-(6=9��5�$���$2,9�?3W<%<c$7�OÆk�|���)143WB��%�|�|$
�|�|�¨=9�;3+�@5�3W�|*%<>=?$2$7,�<�(+B�$2�U(+<c��(W�%��,9$2�9�?$2�2C���$2�%,?�|$4�´$2,9�U(+<����%"%3�<%$«3���$2,9(+=?3W,-��Æk�|�|�z173W�|��$A1 =Â=9�����;�|<c17��*c�%��<%�/<c(+B�$A�;(W<c�
(+�|�|$7�W$A���%,9�|3W,#14,9��B��|<c(+�I(W14=?�|5M�µ=®8�C�$4=91WZÂ¬M3WB�$Å3W�O=?"%�°�#�|<��´3W,9B�(6=?�|3W<�Æk���|�I�z$�=9*%,9<%$2��365W$2,Â=93/�°(aÆ�$7<%�´3W,-14$7B�$2<�=AC%(+<c���|�
173W<c�?�°��$7,9$2���¨$2<c�¨��=?�|5W$�=93/=9"%$��z3+=?$2<>=?�°(+�I�|$7��(W���%,?3>�¨$A14*�=9��3�<�3W�@=?"c$'17(W�?$WZ !#"%$�,?$A�®=k�°�U=?3���$�=9,?$A(6=?$A��(��k�¨$2<c�?�µ=9��5�$«=93
,9$2�?��$A1 =#=?"%$��c,?�|56(W148�3+�@=9"%$�5W3���*c<�=9$7$2,9�#(+<���=9"%$��y(+B��|��8�Z



��� � j � f��'j ��� egjkh iwj � � � 
 i}�£f��Õh

!#"%$�¸«�|,?$A1 =93W,AC>�|<�173>3���$2,9(+=?�|3W<�Æk��=?"�=?"%$��y(+B��|��8�(+<����°(aÆÓ$2<��´3W,-14$2B�$7<>=2C�Æk�|������$A14�°��$�Æk"c$7<�=9"%$�.0$214365�$7,98�:;$2<�=9$7,U�|�
=?3/��$��?">*%=#��36Æk<@Zw²»=#�°�Â�|<%$75M��=9(W�%��$�=?"�(6=;,9$217365W$2,?8/3W�z$7,-(6=?�|3W<���Æk�|����$7<��IZÂ¬M"M*�=9�%36Æk<�Æk���|����$�( �%�µº�14*c�µ=k(+<c��3W<%��3W�|<%�
�%,93�14$2�9�;�;�¨=9(a8��´3�14*c�?$2�OZÂ¬M"M*�=9��36Æk<£=-(W�?�M�UÆk�|���@��<c17��*���$'���°�¨�z3��?�µ=9��3�<�3W�w$AÖ>*%���cB_$2<>=2Cc�?*%�%�%�|�|$2�2C%(+<c�£,9$2143�,9�c�7Z
¬M"M*�=-��36Æk<�=-(W�?���#��<c17��*���$:A

� !@$2,?B��|<c(6=9$�(W����Ì�$7�°�£�?$2(W,91-"�3W�z$7,-(6=9��3�<c�7Z
� :;��3>�¨$��y(W17���|�µ=®8�=?3_=?"c$��%*%�%�|�|1WZ
� �)�|<c(W���|�7$�=?,-(+<��®�´$2,k3+�w(W���I�z$7,?=?�|<%$2<�=1&�
�& � �*)+�"��
-�")vt�&`,9$2173W,-�%�;=?3��%,9$2�?�°����<c�Õ�|(aÆÏ$7<��´3�,917$7B�$7<>=0(+��$7<c178WZ
� !@,-(+<c�¨�´$7,�(+�|� .k$217365W$7,98�:;$7<>=?$2,��|<��´3�,?B�(6=9��3�<`�´,93WB 143�B��%*�=?$2,�"c(+,-����,9�|5W$2� =93 �c3��%�%�|$2��(+<��g� 	 0 
-�.	 t�6/6w�n	 �

�,
-�.	 �"!$#R	�&���	 �*)/&B��
-�"0 t-�e)v
-&2���,
�0 �,
-0 ���5��	 ���
t-� 7 7-�")/�.	�� 9

� :;3W<c��*�1 =014,9�µ=9�|12(+�I�|<c14�°��$2<�=«�¨=?,9$2�9�k��$2�%,?�|$4Ì�<%�cZ�¬M$2$':;3�*%<c�?$7�|��<c�
� ²»� (W�%�%�|�|12(+�%�|$WCM=9,9(W<c�®�´$2,#��3�<%�+� =?$2,?B �c8�$7,0���°�¨=?,9���%*%=?�|3W<£=?3_�y(+B��|��8 (W<c�£�|(aÆÏ$7<��´3�,917$7B�$7<>=2Z
� ÉÂ�®=-(+�%�|�°�¨"D�|3W<%�W�Ñ=9$7,9B B�(+<c(W�W$2B_$2<>=03+� (+<M8��´*%<��%�«(�1714*cB *%�°(6=9$2�IC��ÑZ $WZ|C`,9$7Æ#(+,-�IC%3W�z$7,-(6=9��<c�_$7Ã���$2<c�¨$A�7Z0:;,9$2(6=9$
(/�z3�(W,9��=?3�365�$7,-�¨$2$0=?"c$2�?$�3W�z$7,-(6=?�|3W<��7Z

� É�56(+�|*c(6=9$�Ì�<c(+<c17�|(W�O�¨��=?*�(6=?�|3W<@Z �{)/6/6 ���%)/6/6`��
�0�	1)/&�9;¬M3�B�$�Æk�|�|�O��$'�%$4�´$7,9,9$2���´3W,#=?"c$'17(+*��¨$�CM�?3WB�$�Æk�|���O<c3+=2Z
� :;3W<c�?�|�%$7,U�´*�=?*c,?$�<%$2$2�%�U�´3�,#�y(+B��|��8£�¨*%�c��3�,¨=AZ
� ·0,9,9(W<%�W$/�´3W,�=9,9(W<c�¨�´$7,'3W�#(W�%�%,93W�%,9�|(+=?$�$�@�$214=9��3W�0.k$217365W$7,98�3W�z$7,-(6=9��3�<�=93���$�=?*%,9<%$2�¶365�$7,�=?3`�y(+B����|8��|<¶=?"c$
�´*�=?*%,9$WCc�ÑZ $WZ|C��W��� =9�2C%�z3��¨=?$7,-�2C��c(+<%<c$7,-�7CM,9���%�z3W<��7C%<c$7Æ0�?�c(+�z$7,k(+,?=?�°14�|$2�2C�$4=-1+Z

� .k$4=9*%,?<D(+�|�O�|3�(W<%$2���µ=9$7B��#=?3�=9"%$7�|,k36Æk<%$2,9�U�%,93WB���=9��8�Z�¸«3�14*cB_$2<>=«�%(6=9$�,9$4=9*%,9<%$2�£(+<c�£�M8�Æk"%3�BDZ
� ¸«�°�®=9,?�|�%*�=9$'(+<M8�*%<M*c�?$2�£�W3M3��%�U=93�(W�%�%,93W�%,9�°(6=?$�1-"c(W,?��=?�|$2�U3W,k3W=?"%$2,k3W,9��(W<%���A(6=9��3�<c�7Z
� }�,?$2�c(+,9�|<%�_!#"�(+<%� ��3�*D��$7=¨=?$2,9�k(W<c�£(W1-�M<%36Æk�|$2����$7B�$7<>=9�2Z

·«��(¶,?$A�¨*c�µ=�3W�'.k$217365W$7,98Ó:;$2<�=9$7,��?"M*�=9�%36Æk<OC#5W3W�|*%<>=?$2$7,-��Æk���|�«�z$��|<�(¶"%�|�W"%�|8Ó1-"�(+,9�W$2��$7B�3W=?�|3W<c(W�«�®=-(6=9$`Æk�µ=9"
*%<%,9$2�?3W�|5W$A���|�9�¨*c$2��=9"c(6=@B/*c�¨=@��$U��$2(W�µ=)Æk�µ=9"OZ)!#"%$A�¨$Â$7B�3+=9��3�<c�IÆk�|���>B�(+<%���´$2�¨=O=?"c$7B��¨$2��5�$2�I�|<'56(+,9�|3W*c��Æ#(a8��O��$7�z$7<�����<c�
*%�z3W<Ó=?"c$�3W*�=-143WB�$D3+��=?"%$�$ @z3�,¨=�A ?®368WC;,?$2���|$4�®C#�?(+=?�°�®�y(�1 =9��3�<OCU(W<%�W$2,2C;��$7�%,9$2�9�?��3�<OC��´$A(+,ACU(W<c��(W<�Ã���$7=®8WZ�¬M"M*�=-��36Æk<
3W�z$7,-(6=9��3�<c� Æk�|���%�|<c17��*c�%$«��$2(W���|<%��Æk��=?"�5W3���*c<�=9$7$2,9�B=6Æk�|�?"%$A��(+<c��(��¨�%�|,-(6=?�|3W<���r ¬M$214=?�|3W<�\%Z�YAb�ry3W<�:;3W*c<c�¨$2���|<%��xDx Z ^`(W<>8
Æk���|�@(��¨�%�|,9$�=?3�14,9$2(+=?$'(��z$7,9B�(+<%$2<�=0$2<>=?��=®8��´,93WBÕ=9"%�°�0$�@�3W,?=2ZU²»=0�°�0,9$2143�B�B_$2<c��$A��=9"c(6=«17*%,9,?$2<�=03���$2,9(+=?�|3W<c�k17$2(��¨$�Z
²»� ��<c�%��5M�°��*c(+�°�#Æk�°�¨"£=?3��¨=9(W,¨=k�z$7,9B�(W<%$7<>=03�,?�>(+<%�|�2(+=?�|3W<c�2CW=9"%$78��¨"%3�*%�°�£�%3��?3�(6=0(_�|(+=?$2,0�%(6=9$'(+<c��3W<�=?"%$2��,«36Æk<OZ

E �{F E ��iDM�S5LRJ'iD]`_ XZOwm�LRJ'|nM

.k$A143W,-�%�/(+<c�¹��3�17*%B�$7<>=9� =?"c(+=/ÆU$7,9$�Ìc�|$2�¹Æk��=?"	=?"%$£Ä0�°�®=93W,9�|(W<	�¨"%3�*%�°� ��$£17(+,9$4�´*c���|8�(W,91-"c��5�$2�ZrÑ¬M$A1 =9��3�<�\�Z]\�r´3�<
Ä0�°�¨=?3W,9�°(+<�x x Z¡·0<M8	�|<��´3W,9B�(6=?�|3W<�3W<¡143�B_�c*�=?$2,_"�(+,-� ��,9��5�$2���?"%3W*%�°����$D�%*�=�3�< ��3W�%�%�|$2��(W<c���¨=?3�,?$A�	Æk��=?"Ó=?"c$
Ä0�°�¨=?3W,9�°(+<OZ &@(W��$2��=?"%$'�%�|�?���7Z
!#"%$D¸«�|,9$21 =93W,_B *c�¨=_�%$4=?$2,?B��|<%$£Æk"%3�,9$4=-(+�|<c� �z$7,9B�(+<%$2<>=�17*c�®=93���8¶3+�0=9"%$£(W,91-"c��56(+�;,?$A143�,9�%�2Z�É�5W$2,?8¹�?�µ=9*c(6=9��3�<	�|�
*%<%�°Ö>*%$WZ;:;3�<c�?�|��$2,#=?"%$��´3����|36Æk�|<%�'A



m�� �Õ���>v�sM���>ra�� /�Mp�q2�>r£À@ÎIu)q2tws���p Y2b6�®d

� ��� t-6/68
 �N	�7�CÂ�|(aÆ $2<��´3W,-14$2B_$2<>= Æk���|�;=?,98�=93��?$217*%,?$ t�6/6U��
 �<)v	���3W�k=?"%$A�¨$�,?$A143�,9�%�2Z�.k$2B�$7B �z$7,AC{���
	���	��,	,��
-� 7.�
�,	 68
-&43 ��
l�/�'	���	���
���	 �"!$#%	 &'�(	 � 9

� ��t�� �-� ��,9$2143�,9�c���´3�,#=?"%$��%,9$2�?�°����<c�_�°(aÆ $2<��´3W,-14$2B�$7<>=0(+�W$2<c148�Z
� �%*�=9*%,?$�<%$2$2�%�03+�)3W=?"%$2,0(+��$7<c17��$A�7Z
� }w3>�?�?�|�%��$��|3W<%�W�Ñ=9$7,9B �y(+B��|��8�<c$7$2�c�#�´3W,k�%,9�|5a(+=?$��|<>5�$2�¨=?�|��(+=?�|3W<c�2Z

E �{F d z{OwOw|U~n]`m'��S5L�S
TUOPV1]%HUJ
] XZOwm�L�
NOCJ�� YIO}_NS5OCJZ�2OC]%�

!#"%$`&)(+*%,-(�.0$214365�$7,98�:;$7<>=?$2,�^`(+<M*c(W�k�|��(W<Ó3�<%�W3���<c���%,93-?®$A1 =AZ¡!#"c$`&@.0: !)$2(WB �¨3����°14��=9��8�3W*%,��?*%�W��$2�¨=?�|3W<c�/=93
�|B_�c,?365�$�=9"%$'&@.0: ^`(+<M*c(W�RrÑ¬M$A1 =9��3�<�Yad�Z [ r´3W<��c$7$2�%�c(W1-�
xDx4Z ��$'(+,9$��|<>=?$2,?$A�®=9$2�£��<D�|$2(W,?<%�|<%�_�´,93WB�(W<M8�(+�%�c���°17(+=?�|3W<
3+�w=?"c$�^�(+<M*c(+� Z



�1� � � j�� � h � � �£jkh i � � j � � ��� i � f'h

}�,9$4�»��<�14�°��$7<>=)�c,?$2�c(+,-(6=9��3�<c�O17(W<'�z$;���|5M�|��$A���|<�=930=®ÆU3����8@�$7,9$7<>=)�c(W,¨=-�7Z)!#"%$�Ìc,-�¨=)�c(W,¨=w�|�)��$2��<c�«�%,9$7�c(W,?$A��(+<c��=?"%$2,?$2�>8
��$25W$7�|3W�c��<%��(W<�*%<c��$2,9�¨=9(W<c���|<%��3+� =9"%$ �%,93�14$A�?�#=9"c(6=��¨*%,9,93W*%<c�c�#=?"%$/�¨$A(+,-1-"��´3�,«(�B��°�?�?��<c��1-"%�|�|�IZk!#"%$/�¨$A143W<��D�c(+,?=
143�<c�?�|�¨=9�#3W� (�1 =?*�(+��Ìc$2�|�£=9,9(W��<%�|<%��$4Ã�$2,917�|�?$2�2Z �«�?��<%��=9"%�°�0^`(+<M*c(W�@(W�k(���*%�°��$�8W3W*D17(W<D�%,?�|<%��8W3�*%,0143�B�B *%<%��=®8�=93�(
,9$2(W�?3W<�(+�%�|$«�|$75�$7�O3W�)�%,9$7�c(W,?$A��<%$A�?�2Zw�c3W�|��36Æk�|<%��(+,9$��¨3�B_$���*%�|�%$7�|��<%$A�U=?3�3�,?�>(+<%�|�7$�8W3W*c,0143WB�B/*%<%��=®8�$�@�3W,?=2Z

ERE%F E � Owi _Uh G J
OwK�]`J
Ow|

� ²®��$7<>=?���´8�(_�z3��9�¨�|�%�|$��y(W14�|�|�µ=®8��´3�,k*c�?$'(W�k(�.k$217365W$2,?8�:;$7<>=9$7,AZ ¬�$7$ ¬M$214=?�|3W<�d�Z [�ry3W<£}�"M8��¨�°17(W�O�c(W17���|��=®85x4Z
� }�,?$2�c(+,9$#( �714,-(W�?" �M��=��;Æk"%�°1-"_�|<c17��*c�%$2� �?*%�%�%�|��$A� <%$2$2��$A�'�´3�, =?"%$#Ìc,-�¨=�d+±�"%3W*%,-�w3+��3W�z$7,-(6=9��3�< �+B�(+�c�2C+<c(WB�$4=9(W�
�¨8��¨=?$7BDCA�´3W,9B��7C�sa�e34t�&�)8uBt-�e)v
-& #C�'t��"�4CW5W3W�|*%<>=?$2$7,)���°�®=AC �c8W$2,@B�(6=9$7,9�|(W�|�2C6�¨�|�W<��7C6(+<���3+º�14$U�¨*c�%�%�|��$A� rÑ14*c�¨=?3�B����2$
��$2,k8W3W*c,U�c,?$7�´$7,9$7<c17$�x Z

� ²®��$7<>=?���´8��?3W*%,-14$A�ÂÆk�|�|���|<%�_=?3��%,9365M�|��$�143�B��%*�=?$2,9�2C���·��ÅB�(W1-"c��<%$A�7C£(+<c��3+=9"%$7,k,9$2Ö>*%�|,?$A��3Wº�17$�$AÖ>*%���cB_$2<>=#3�<
(/B�3�B_$2<>=9�#<%3W=?�°14$WZ

� ²®��$7<>=?���´8��?3W*c,917$2�;�´3W,k3���=9(W��<%�|<%��(+�%�c,?3��%,?�°(6=9$�B�(W�c�U�´3W,k8�3W*%,0(W,?$A(%Z ¬M$7$ ¬M$A1 =9��3�<�±�Z�Y�Z ± r´3�<D^�(+�%�%�|<%��x Z
� :;,?$A(6=?$�(¶�%"c3W<%$D=9,?$2$WZ &@�|�¨=�=?"%$�<c(+B�$2��3+��5W3W�|*%<>=?$2$7,-�_Æk���|���|<%�¶=93 Ì����0��$78���3>�¨��=?�|3W<c��(W��ÆU$7�|�«(W����$7<%$2,9(W�
5W3W�|*%<>=?$2$7,-�7Z �0���%(+=?$�,9$7�W*c�|(W,?�|8WZ ¬M$7$ � 3���*%<>=9$7$7,0&@�|�¨=2Z

� :;,?$A(6=?$�(���·��Å�|�°�®=AZÂ·0<D*%�£=?3��c(6=?$'�c(6=9(W�c(W�?$�3+� ��·��×<M*%B/��$2,9�k12(+< �9(a5W$��%,9$214�|3W*��U=?�|B_$'(+=k=?"%$��z$7����<c<%��<c�
3+�@(_�¨$A(+,-1-"�$�@�3W,?=2ZÂ:;3W<c�?�°��$7,U"c(a5M��<c� (+<�3W<���3W�|<%� 5�3W�|*%<>=?$7$2,Â�%,93�14$A�?�;��<��%�°(W14$«=?"c(+=UB�(W��<>=9(W��<���=9"%$«�´3����|36Æk�|<%�
��·��Å<M*%B �z$7,k�|�°�®=-� A

� &O3�12(+�O(+<���,9$7����3�<c(+��B�$7,-1-"c(+<>=-�;Æk�|�|���|<%��=?3��z3��¨= �c8W$2,9�U,9$217$7�|5W$2���M8���·��/Z
� &O3�12(+�O(+<���,9$7����3�<c(+���°(aÆ $7<%�´3W,-14$7B�$2<�=0(W�W$7<�14�|$2�2Z
� &O3�12(+�O(+<���,9$7����3�<c(+��B�$2���°(�143�<>=9(W14=9�2Z
� ª«(+=?�|3W<c(W�O1-"%�|�|��Ìc<c�£3�,?�>(+<%�|�2(+=?�|3W<c�2Z
� .k$2�W�|3W<c(W�O(+<c�£<c(+=?�|3W<c(W�O���°�¨=9�k3W�w�>(W�k�¨=9(6=9��3�<c�2Cc17(W,k,?$2<�=-(+�O(W�W$7<�14�|$2�2C�"%3+=9$7�@1-"c(W��<��7C%B�3W=?$7�)1-"c(+�|<c�2C%�%*%�%�|�°1
�|���%,-(+,9�|$2�2C>�c,?�|56(6=?$'�91-"%3M3W�°�2C>�c*%�%�|�|1��91-"%3M3W�°�7C�(W<c��"c3��?�%�µ=-(+�°�7Z

� ²®��$7<>=?���´8	�%*��¨�|<%$2�9�?$2��Æk�|���|��<c�¶=?3¶�%,9365>�°��$£�W3M3��%�2CÂ$2Ö>*%�|�%B�$7<>=ACU(W<c�¡�¨*%�c�%���|$2��(���<%$7$A��$2�OZ�!#"%$�:;"c(+B/��$2,�3+�
:;3WB�B�$7,-14$��|�0(_��3>3��£�®=-(+,?=?�|<%�_��3���<>=2ZÂ¬�$7$'.k$A�¨3�*%,917$�&@�|�¨=2Z

� ·0�|����<�8�3W*%,#$�@�3W,?=0Æk��=?"D��3�12(+�I�°(aÆ $7<%�´3W,-14$7B�$2<�= �%�¨3����°14��=#=?"%$2��,0(���5M�|17$WZ
� �c(+B��|���°(+,9�|�7$�8�3W*%,-�¨$2�µ�kÆk��=?"�,?$2�W�|3W<c(W�ÂB�$2���°(�173W<>=9(�1 =-�7Z 	;*c���°��(W<�(+�%�c,?3��%,?�°(6=9$���·�� ���°�¨=2Z¹^�$2�%�|(�17(+<���$£(
��36ÆU$7,?�´*%�I(+�|��8�ZÂ¬M$7$�}�*c�%���°1'·U@�(W��,-�7Z

� ²®��$7<>=?���´8¡(+<M8��?��$A14�°(+��(W�9�¨$7=9��=9"c(6=�B�(a8���$`�|3�17(W���|8Ó(a56(W���°(+�%�|$WCU� Z $�Z �%3W�¶=?$A(+B��2C#Ìc,?$`(W<c�¡,9$2�914*%$�C#�%�|�9(W�¨=?$2,
B�(W<c(+��$7B�$7<>=AC>"c$7�|�|173W��=9$7,-�7C�*%��=?,-(+�|�|�W">=9�2C�$7=91+ZÂ¬�$7$ ¬M�z$217�|(W�@¬M$2(W,91-"D^�$4=9"%3��%�k(+<��£!w(W�?���7Z

� .k$217,?*%��=0(+�%�c,?3��%,?�°(6=9$��|$7�>(+�I143�*%<c�?$7�IÆk�|���|�|<%��=?3��z$�3+� (W�9�¨�°�®=-(+<c17$WZ

}�,9$7�c(W,?$A��<%$A�?�012(+<��|<c14�|*c��$ ��<��´3�,?B�(W�)14�°(W�9�?,?3M3WB��¨$A�?�?��3�<c�#=9"c(6=0�y(WB����|�|(W,?�|�7$��z3+=9$7<>=?�°(+�w143�B_B/*%<%��=®8�5�3W�|*%<>=?$2$7,-�kÆk�µ=9"
=?"c$�B_$A1-"c(+<c�|12�#3+�),9*%<%<c��<%��(�.k$A14365�$7,98 :;$7<>=9$7,�A



mzm � � r6��{9n4pwvWxÑt)�Mp�q � r6�>Ðw¥%ra¥%q2xyszp YWY4�®d

� :;3W<c��*�1 =#=?,-(+�|<%�|<%��14�°(W�9�¨$A�7CMÆk"%�°1-"D��3�,¨=9,9(a8�(_B��|�9�?��<%��1-"%�|�°���914$2<c(+,9��3�Z
� �«�?��<%��=?"%�°�£�W*%�°��$�C����|5M�|��$�,?$A�¨�z3W<��¨�|�%�|����=?�|$2���c(W�?$2��3W<�=9"%$	��,?�>(+<%�|�2(+=?�|3W<c(W��:;"c(+,?= rÑ�w����*%,?$�AWsa�e3�t-&')8u�t�� )v
�&

#C�'t��"�/x ZÂ·«�%�%,93W�%,9�°(6=?$�<c(WB_$7=9(W���#(+<c���´3�,?B��k�?"%3W*%�°����$�*c�?$2�D��*c,?�|<%���¨�|B *c�|(+=?�|3W<OZ
� §�3�=?"%,93W*%��"D=?"%$ B_3W=?�|3W<c�«3+� ,9*%<%<%�|<%��(�.k$A14365�$7,98£:;$7<>=?$2,2Z#²³<D=9"%�|���¨�|B *c�|(+=?�|3W<OCc=?"%$_14�°(W�9�kÆk���|�@�z$ ,9$7�c,?$A�¨$2<��
=9(6=9��5�$�3+�w(�173WB�B *%<c�µ=®8�$�@�3W,?=2Z 	¡����)/687 )+�*0�)+���")/&43 � ����)+�*)+�*!:
��5����
�0202�5&')/� !/�;Æk"%3���3M$2�#Æk"c(+= �

� ·«��Ö>*%$A�®=9��3�<c��(+,9�|�?$��%*%,?�|<%��=?"%$��?��B/*%�°(6=?�|3W<@C;�?$7$7�	(W<c�?Æ;$2,9� ��<�=?"%�°��^`(W<>*�(+�k(+<c��3+=9"%$7,��?3W*%,-14$A�7Z�·«���
�?�µ=9*c(6=9��3�<c� (W,?$�*%<c�|Ö>*%$ � 8W3W*¶B�(a8�"c(a5W$�=93`14,9$2(6=9$�8W3�*%,�36Æk<	�?3W�|*�=?�|3W<c���´3W,'�%,93W�c��$2B�� <%3+=_�¨�z$217�µÌ�12(+�|��8
14365�$7,9$2�IZw}��|$2(��¨$��%,9365M�|��$��´$2$2���c(�1-��=?3_=9"%$'&@.0:�!)$2(WB r ¬M$214=?�|3W<�YAd�Z [ r´3�<£�c$7$2�%�c(W1-�
xDx4Z

� ·«�9�?$7B �c��$�(�B�3�1-���»*%� �c8W$2,k(+<c�£�%�°(+<��´3W,0���°�¨=?,9���%*%=?�|3W<OZÂ¬M$2$'¬M$214=?�|3W< \%Z�Y r´3�<��)�|8W$2,9��x Z

ERE%F d z�iDOwbD| �2J
]%iD_niD_Uh

�w��$2�|�`=?,-(+�|<%�|<%��$4Ã�$2,917�|�?$2�«B�(a8£�z$/*c�?$2��=?3£$4ÃM=?$2<c�D=?"c$/B��°�?�?��<c��1-"%�|�|���¨�|B *%�°(6=9��3�<D=?3£(+<`�|B�(+�W�|<c(W,?8D�¨��=?$/�|(��®=��¨$2$7<OZ
¬M$2$_¬M$A1 =?�|3W<�±cZ|Y ry3W<�!w(+,9�W$7=?�|<%�4x4Z�¬M*c1-"�$4Ã�$7,-14�°�?$2�«12(+<`�z$_*c�¨$A�D=?3�=?,-(+�|<`�z3+=9$7<>=?�°(+��:;3W,9$_§�,93W*%� rÑ¬M$A1 =?�|3W<�d�Z|Y r´3�<
:;3W,9$'§�,?3�*%��x xÂ5�3W�|*%<>=?$2$7,-�7Z :;3�<c��*c14=k=?"%$�,9$217365W$7,98��¨�|B *c�|(+=?�|3W<D(W�U,?$A(+�|�|�¨=?�°17(W���|8�(��;�z3��9�?���%�|$WZ

� ²»����3>�?�?���c��$�C��|<M5>��=?$/<%$7Æ0�«B�$2���°(�=93�=?"%$/Ìc$2�|��$7Ã�$7,-14�°�¨$A�7Z0!#"%�°�0Æk�|�|�Ó�?$7,95W$�=®ÆU3��%*c,?�z3��?$2�BA;��=�Æk�|�|�)����5�$'5W3���*%<%�
=?$7$2,9�«,?$A(+�|�|�¨=?�°1�$4Ã��z$7,9��$2<c14$ Æk�µ=9"�B�$2���°(��z$7,-�¨3�<%<%$2�)(+<����µ=�Æk���|�w�%,?3�B�3+=?$��c*%�%�|�|1/(aÆU(W,?$2<%$2�9�#3+���%,9$7�c�|(W<%<%�|<%�
(W1 =9��5M��=?�|$2�2Z�¬M$7$�}�*c�%���°1�·{@I(+�|,-�7Z

� ·0�%�%,93W�c,?�°(6=9$�<c(+B�$4=-(+�>�«(+<��D�´3W,9B����?"%3W*c�|�D�z$/*��¨$A�`��*%,9��<c��=?"%$��?��B/*%�|(+=?�|3W<OZ�¬M$7$���,?�>(+<%�|�2(+=?�|3W<�:;"c(+,?=�(W<c�
�%3W,9B��7Z

� :;3W<c�?�|�%$7,�=?"c$��z3��9�¨�|�%�|����=®8�3W�k173W<c17$2(W���|<%��(�B�(+<%<c$2Ö>*%�|<�,9$7�c,?$A�¨$2<�=9��<c�`(DB_�°�9�¨�|<%�`1-"%�|�|�¶�|<	(��|3�17(6=9��3�<¶Æk"%$7,9$
���|�W$2���|"%3M3���3W�w��$7=?$214=?�|3W<D�°�#,?$A(W�?3W<c(W�%��$�Z 	U$�14,9$2(+=?�|5W$�Z

� �)�|$7�°�	$7Ã�$7,-14�°�¨$A�/�?"%3W*c�|����<c17��*���$D,?$A(+�|�|�¨=?�°1��%,9�|$4Ìc<%�¶(+<�����$2�%,?�|$4Ì�<%� �?$2�9�¨�|3W<c��rÑ¬�$21 =9��3�<�±�Z ±or´3�< 	U,?�|$4Ì�<%�4x x
rÑ¬M$A1 =?�|3W<£±cZ � r´3�<D¸�$7�c,?�|$4Ìc<c�4xDx4Z

� �«�?$��?��$A14�°(+�z=?$A(+B��Â���)(a56(+�|�°(+�%�|$:A ��3W�>�7C>"%3�,9�?$2�2C>(W��,-14,-(6� =AC�$7=91WZar ¬M$214=?�|3W<�±cZ [ r´3�<£¬M�z$217�|(W�O¬M$2(W,91-"�^�$7=?"%3��%�#(W<c�
!)(��¨����xDx Z

� !)(W�W$�<%3+=9$�3+�w�?�z$214��Ì�1�<%$2$2�%�#3�,0�¨�z$217�|(W���|�7$A��$AÖ>*%���cB_$2<>=k=?"c(+=0B�(a8��z$�<%$2$2��$A���|<D8W3�*%,k(+,9$2(%Z
� ·U=�=9"%$�$7<c��3W�Â=?"c$/Ì�$7�°��=9,9(W��<c��<%�£$4Ã�$2,917�|�?$2�2C�=?"%$�173W,9$/��,?3�*%���?"%3W*c�|� 173W<c��*�1 ='(£��$A�?�?3W<c���|$2(W,?<%$A�`B�$7$7=?�|<%�cZ
!#"%$�&@.0:�!)$2(WB ,9$2Ö>*%$2�¨=9�;�´$2$2���c(�1-��(W�#8�3W*£��$A(+,9<��´,93WBÕ=?"%$A�¨$�$4Ã�$2,917�|�?$2�*r ¬M$214=?�|3W<�YAd�Z [ r´3�<£�c$7$2�%�c(W1-�
x Z

ERE%F y GIJ
O 
NOw_£S
i�L£_

!#"%�°��^`(+<M*c(W����3M$2��<%3W= ��$2(W� ��<¶��$4=-(+�|� Æk�µ=9"¶�%,?$25W$2<�=9��3�<OZ/·����c(W,¨=�3+�U8W3�*%,��%,?$7� �|<c17�|��$2<>=��%,9$7��(+,-(6=?�|3W<�8W3�*�B�����">=
Æ#(+<>=#=?3�143�<�=-(W14=BA

� :;"%���°�D&O*%,9$2�2CM²³<c1+Z
� d�Y�Y ��¬M"%$2���%*c,?<%$�.k3>(W�
� ¬M"%$2���c*%,?<c$WC � $2,?B�3W<>=0b�\+± 
>d



mzm � � r6��{9n4pwvWxÑt)�Mp�q � r6�>Ðw¥%ra¥%q2xyszp YWY4�³[

� 
Wb>da��� 
>\a��
+±>\ 

� 
Wb>da��� 
>\a��
+±cY�
��;��·��
� � � �WAc">=?=?�CA ©W©6ÆkÆkÆ�Z 1-"%�|�°����*c,?$A�7Z 143�B
� É �»B�(+�|�eA �|*%,9$2���«=?3W��$4=9"%$7,AZ <c$4=

� ÉÂ�?12(+�z$'¬�1-"%3M3W�
� ">=¨=9�CA]©�©aÆkÆkÆ�Z B�14�W�|<%<%�°�?5>�°��$23cZ 143WB�©6$2�917(+�z$WZ ">=?B��



� � � j � � ��� j

!#"%$'&).k:�!@$A(+BÕB�(W��<>=9(W��<��k(/ÆU$7�D�c(W�W$�(6=��5�e� ��� ��� � � �$9  C��# �w
-�5&<7�t�� )v
�&<9/
-�e3WZ
���
	��N	 � �
tB3�	 �%)/6/6£��
�&���t-)/&��/�'	�68t-��	��"�U)/&B��
-�"0 t-�e)v
-&ot ��
-�5�U0�)+���")/&43I�,�5)/687 
��e34t�&�)8uBt-�e)v
-&
���U� 
������Nt��,	����
t����/�'	  C��#
��	,t-0 �'t.�R��
��5&�7l��� 	e���56 � t�&�7l� �'7:t-��	��*��
 ���
	
 C��# � t�&��'t�689
²³<�(��%����=?�|3W<OC�=9"%$�Æ;$2�`�c(W�W$�17(+<���$�*c�?$2�`=?3£�%,?365M�°��$��´$2$2���c(�1-�D=?3�=?"%$�&@.0: !)$2(WB­(+�z3W*�=�=?"c$_&).k:Å^`(+<M*c(W�w(W<c�
3+=9"%$7,kB��°�?�?�|<%��1-"%���°�£�|�9�?*%$2�2Z ¬M3�B_$�3W�)=9"%$�Æ;$2���|<��´3�,?B�(6=9��3�<��°�#�|<c14�|*c��$A��"c$7,9$WZ

EwdaF E [^i M�M4i _Uh�Y T�i bD| fgJ
hR]%_�iDj>]}S
iDLN_�M

!#"%$��´3����|36Æk��<c�/3�,?�>(+<%�|�2(+=?�|3W<c�U17(W<�"%$2���D�|<£=?"%$'�?$2(W,91-"��´3W,0(_B��|�9�¨�|<%��1-"%�|�|�CA

� &@(+*c,9(_.k$217365W$2,?8�:;$7<>=9$7,0�%3�*%<c�%(+=?�|3W<
� [WbMÇ�	;�-Y'¬M3W*�=9"��%,9��$2<c�%�?Æ;3M3���¸�,9��5�$
� �%,9�|$7<c�%�?ÆU3>3��IC%!)$4Ã%(��«ÇWÇ+\+±�Ë
� � 3W�°14$�AÂd 
cY4�»± 
�d6�³\>Ç+dW['ry&).0:U�`x
� ��·���A�d 
cY4�»± 
>da�®\�Ç+d>Ç
� É �»B�(+�|�eA ��&B��
��  w��# �}
��5&�7:t�� )v
�&�9/
��e3

� � � �WA��5�e� ��� ��� � � �N9  w��# �}
��5&�7:t�� )v
�&�9/
��e3

� Ä0$7�°���)¬�$2(+,-1-"D:;$2<>=?$7,
� ���|<c�%�?3W,k} (+,9��^`(W���
� Ç ��bWb/²®ÄÅ[�\/ª03�,¨=9"
� ¬�(W<D·«<>=?3W<c��3�C%!@$7Ã�(��0Ç 
�d%Y 
+�³d�d�YA\
� � 3W�°14$�AÂd�YAb6�³Ë�\+b+�»bW±>d 
�© 
�bWb6�®\6±�ÇA�»±W±>[�\
� ��·���A�d�YAb6�³Ë�\Wb6�³[WË�\W[
� É �»B�(+�|�eA{)/&���
��N�
	 )v7�)+� 	�t�� ���
��	 &'�(	�� 9/
-�e3

� � � �WA��5�e� ��� ��� � � �N9 �'	�)v7-)+��	�t-� �,�'��	�&���	 � 9/
��e3 ��)/&�7:	���9 �5� 0�6

� ���|(��?� ���°�%�k�%3�*%<c�%(+=?�|3W<
� � � �WA��5�e� ��� ��� � � �N9 �-68t.�����-)v7.� 9/
��e3

� 	;$28W3�<c��^��°�9�¨�|<%�
� � � �WA��5�e� ��� ��� � � �N9 ��	 !:
�&<7-0�)+���")/&4349/��
�0

� ª«(6=9��3�<c(+�@:;$2<�=9$7,#�´3�,«^��°�?�?��<c�_(W<c�£É Ã��%��3��µ=9$2�`:;"%�|�|�%,?$2<
� d�YAb%Y �����°�?3W< 	;3�*%�|$756(+,-�ICc¬M*%��=?$ \�\+b
� ·0,9�|��<%�W=?3�<OC �«�|,?����<c�|(�dWd�d+bcY4�³[Wb>Ç�Ç
� � 3W�°14$lr d6±_"%3W*c,�x�AkY4��
WbWb+�»!kÄ«É �³&w��¬�!Wr´� 
W±�[6�®\+ËMÇ 
4x
� � 3W�°14$�AkY4�¨Ç6b�[6�®d+[�\6�»[ �Wb�b



m%� � �g� � � ¥%¤�� YAda�®d

� ��·���AzÇ6b�[6�®d+[>\a�»±�bWËMÇ
� É �»B�(+�|�eA
� � � �WA��5�e� ��� ��� � � �N9�02)+����)/&�3 �-)v7.� 9/��
�0

� }w3����|8 ���°(W(��U�c3W*%<��%(6=9��3�<
� } Zz�/Z 	U3aÃ 
Wb�b
� } $4=-(+�|*%B�(%Cz:U· �+± ��\W[
� Ä03W=?�|��<c$:A 
Wb�b6�®\ 
MÇA�»±�[�\>Ç
� 	U*c�?��<%$A�?�BAÂÇ6bMÇA�¨Ç6Ë �+�9YA[W[W±
� ��·���AzÇ6bMÇA�¨Ç6Ë �6�»±�b%Y��
� É �³^`(+�|� A � �-68t:t��/��7-�e& �Ut:
�6�9/�,
-0

� � � �WA��5�e� ��� ��� � � �N9 �'
�6/6 ! �-68t�t.� 9/
��e3

� :;"%���°��¬M$2(W,91-"£^��|<%�|�¨=?,9�|$2�
� } Zz�/Z 	U3aÃ£Ç6[MÇ+d�\
� Ä03�*c�¨=?3W<@C%!@$7Ã�(��«ÇWÇWd�Ç6[
� � 3W�°14$�AÂd 
cY4�³[�\+b+� ��²®¸�¬>r \6±�[MÇ-x
� ��·���A�d 
cY4�³[�\�\a�³^�²¨¬%¬>rÑË+±MÇ�Ç-x
� É �»B�(+�|�eA
� � � �WA��5�e� ��� ��� � � �N9/����)/687�� 	,t-� ���
9/
�� 3

EwdaF d XZOwm�LN� � Ow_n|UOw| ��LNQ S�� ]`J
O

�×¥�ÐwÐ xypw¤¹À@s<;Ñq � ¥%ra� � � À �����
¸�$7�|3W,9B_$�^`(W�%�%�|<%�
¸�$7�|3W,9B_$'¬>=9,?$2$4=«·U=9�|(�� ��¬�· C%5£\%Z b
!)Æ;3�¸�$2&O3�,?B�$�¸�,?�|5W$
} Zz�/Z 	U3aÃ�d � 

�Â(+,9B�3W*�=9"OC%^`(W��<%$'bW±�b �WË
ÆkÆkÆ�Z ��$7�|3W,9B�$WZ 143WB

EwdaF y z{OwOw|U~n]`m'��S5L�S
TUOPV1XZY��2OC]%�

�%$2$2����(W1-���|�U�?3W�|�|17�µ=9$2���M8_=?"%$�&@.0:Ó!)$2(+BDZ ��$�12(+<��z$�,9$2(�1-"%$2���M8�$4�»B�(+�|�£(+={�:�
���`�����$���k�.������������3W,;=?"%,93W*c�W"
3W*c,���3�,?�°� ���°��$ ��$7���?�µ=9$'(6=*�>�D���N������� �
���e���¤� �k�.���������"� �



� � � � jkh�� ���

�PFDE V1XZY�[q]%_aHU]%b YILRK �{J'iDhNT£S � L%S
i m�O

:;3W�M8M,9����"�=*r :ax�Y�� �MÇA�®d+bWb>d�C6=9"%$'&@.0: !@$A(+B
��3W*ÓB�(a8¹Æk�µ=9"%3W*%=�1-"c(W,?��$WC�,9368�(W�µ=®8�3W,�3W=?"%$2,_��(a8>B�$2<�=ACÂ143��M8	(+<c�����|�¨=?,9�|�%*�=?$�173W�%�|$2�_3+�«=?"%$�&@.0:Õ^`(+<M*c(W�U(W<c�
¸�$7,9��56(6=9��5�$ ��3�,?���#3+�)=?"%$'&).0:�^`(W<>*�(+�I�|<£��(+�z$7,k3W,k$2��$A1 =9,?3�<%�|1«�´3W,9B �c,?365M�°��$2��=?"c(+=BA
r®Y.xU8W3�*��%*c�%���°�?"�3�<£$A(W1-"D143��>8�(W<£(W�%�%,93W�%,9�°(6=?$�143��M8>,9�|�W">=U<c3+=?�°14$ �
rÑd�x�8�3W*��y(W�µ=9"��´*%�|��8�,9$7�c,?3���*c17$«(+�|�z�%,?�|3W,U143��>8M,9����">=Â<%3+=9�|17$2�;��<�14�|*c��$2����<�=?"%$�3W,9�|�W�|<c(+��Æ;3�,?� r´8�3W*�B�(a8�(W�%��8W3W*c,Â36Æk<
143��M8>,9�|�W">=U<c3+=?�°14$.x �c(W<c�
ry[4x08�3W*�(W�W,9$7$ =?3£��<c�%$7B�<%���´8�(+<c��"%3W�°�`(W��� �%,9��3�,�(W*�=?"c3W,-�7CI143��M8>,9�|�W">=«"%3��|��$2,9��(+<��`�|�|17$7<c�?3W,-�«3W��=?"c$_&).k:Å^`(+<M*c(W�
"c(W,?B��|$2�9�Â�´,93WB (+<c�£(+�>(+�|<c�¨=#(W���@�c(+B�(+��$2�#(+,9�|�?�|<%� �´,93WBÕ=?"%$�*c�?$�3+�w=?"%$'&).0:�^`(W<>*�(+� Z
��3W*DB�(a8����°�®=9,?�|�%*�=9$'¸«$2,?�|56(6=9��5�$ ��3W,9���#3+�)=?"%$'&).k: ^`(W<>*�(+���%,9365>�°��$A��=9"c(6=�A
ry(4x#(+�|�I�c(+��$2�U3+�w=?"c$�3W,9������<c(W�I&@.0:�^`(W<M*c(+��=9"c(6=0"c(a5�$��z$7$2<DB_3�����Ìc$A�ICc(+<��
r´�<x#(+�|�O�c(+��$2�U3+�w=?"c$'¸«$2,?�|56(6=?�|5W$ ��3W,9��=?"c(+=«143�<�=-(+�|<£(W<M8��c(+,?=k3+�)=?"%$�3�,?�|�W�|<c(+�I&).k: ^`(W<>*�(+� C
17(W,?,98�(_�%,93WB���<c$7<>=k<%3+=9�|17$�$4Ã��%�°(+�|<%��<c� =9"%$�<c(6=9*%,9$�(W<c�D�%(6=9$�3+�w=?"%$�B�3�����Ì�17(+=?�|3W<c�2Z
��3W*D(+,9$«$2<c143�*%,-(+�W$A��=?3_B�(+��$�8�3W*%,UB�3M�%�µÌ�12(6=9��3�<c�#(a5a(W���°(+�c��$�*%<c��$2,U=?"%�°�#���°14$2<c�?$��|<�3�,9�%$7,;=?3_�´*%,?=?"%$2,;=9"%$���B��%,9365W$7�
B�$7<>=«(+<���(�1714$2��=9(W<c14$�3W�@=?"c$'&@.0:�^�(+<M*c(+� Z
��3W*�(W,?$��´*%,?=?"%$2,0$7<c173W*%,-(+��$2��=?3�B�(+�W$�8�3W*%,#B�3����µÌz17(6=9��3�<c�k(a56(+�|�|(W�%�|$�=93_=?"%$'&).k: !)$2(+B Æk"%�|1-"DB�(a8�*c�?$�=?"%$2BÕ=93
�|B_�c,?365�$«=9"%$'&@.0:�^�(+<M*c(+� Z
É ��:;É�};!�·�¬¹��!kÄ0ÉÂ. ��²¨¬MÉ×.kÉ;¬�!k.0²?:U!#ÉÂ¸ 	 � &@· �ÅC@!kÄ«É×&@.0:Å^`·�ª ��·«&�²¨¬�}Â.0���«²®¸�ÉÂ¸ ��²®!kÄ�� �«!
·«ª �gÉ ��}Â.kÉ;¬%¬���.�²®^�}Â&O²³É;¸ ��·�.0.0·�ª«!#²³É;¬�����·«ª � ��²®ª«¸/Cc²®ª�:U& �«¸�²®ª�§ 	��«! ª���!Ï&@²®^�²®!#ÉÂ¸g!«�/C
·«ª �Å²®^�}Â&O²³É;¸ ��·«.0.«·«ª«!#²³ÉU¬£���¶�w²®!kª0É;¬c¬�� ��.�· }I·�.w!#²?: ��&@·�.Ï} �«.k}U��¬�É0C%^�ÉÂ.0:UÄ«·�ª«!w·
	U²®&O²®!��
��.×!#²®!k&@É0Z�É ��:;É�}Â!×·�¬���!kÄ«ÉÂ. ��²¨¬MÉÏ}Â.0����²®¸«É;¸ 	 � &@· �ÅCIª���· �«!kÄ���.�CO:k��} ��.k²¨§�Ä�!×Ä���&)¸«É;.
��. &O²?:;ÉÂª�¬c��.Õ¬�Ä�·«&@& 	;É×&@²®·
	#&OÉ×!«� ��� � �w��. ¸0·«^�·0§�É;¬���� ·�ª � ��²®ª«¸/C@É ��ÉÂªÕ²®�Ï·«¸���²¨¬MÉÂ¸
���	!kÄ«É�}U��¬%¬M² 	U²®&O²®!�� ���Ó¬���:UÄÅ¸0·�^`·0§�É;¬�Z



� � ��Ð)Ð;�>pwtwx ! ·k�®d

�PFed z{LRJ'� M � [q]%M�S5OCJ¢YILRK�i�OwM



� h �£j �
·k��B��|<%�|�¨=?,-(6=9��3�<OCcda�-YWC�±W�³d%C%\a�-YWC%\a��
%Cc\6�9Ya\�C�Ë6�-Y
·k��B��|<%�|�¨=?,-(6=93W,AC%\a�-Y
·0B/�%*%�°(+<c17$WC%±W�9Y�

·0�c��$2<c����Ã�C�·k�-YWCzÇa�9Y
·0,-1-"%�|5W$�C�±+�®\�CM±+�-Y7±�C�\6�³\%C%\a���%Cc\a�-YA\%C�Y2b6�-Y
·«�9�?$2�9�¨B�$7<>=AC%[6�®\�C�[6�³Ë%C�±W�³d
	U,?�|$4Ì�<%�cC�da�-Y ��d6�»[cC�[6�-YWCM[6�³[%C>[6�®\�C>[6�³Ë%CW±W�9Y �_±+�³[%C�±+��


�`±W�9Yad�CO±W�9Y2± �`±+�-Y2ËcC@\a�®\�C)\6� �cC)\a�-YA\%C@\a�-Y2ËcC
Ça�³d%CcÇA�³[%CIY2b+�9Y�C�YWY4�®d

:;$7�|�O}�"c3W<%$�Ccda�³[%Ccda�»±cCM±W�9Y2±cCM±+�-Y 
cC�\6� 

:;��=?�|�7$7<@COY4�-YWC%\a�»±
:;3WB�B/*%<%�°17(6=9��3�<OC6da�-YWCA±+�®d�CA±+�®\�C7±W�»ËcC2±W�9Y�YWC2±+�-Y7±cC2±+�-YA\%C

\6�9Y�C%\a�-YWYWC 
+�9Y
:;3WB�B/*%<%��=®8WC�Y4�-YWCM[6�®d�C>±+�-YWCM\a�»±cC�\a�-Y2Ë%C%ÇA�-YWC%ÇA�®d�C�YWY7�9Y�C

Y�Y4�®d
:;3WB��%*%=?$7,AC�d6�9Y�CWda�®d�C6±+�»±cCW\6�9Y �/\a�³[%CW\a�®\ �/\6�9YAb%CMY2b+�9Y�C

Y�Y4�-Y
:;3W,9$'§�,?3�*%�OCcd6�9Y ��da�»±cC%\a��
%Cc\6�9Y�YWC%\a�-Y2ËcC%Ça�³d%C�YWY4�®d
:;3W*c<c�¨$2���|<%��C%[6�³Ë%CM±+�-YaÇ�C�\6�9Y�Y ��\6�9YA[%C%\a�-Y2ËcCzYAb6�-Y
:;,9��B��|<c(+� CIY4�-YWC�±W�9Y�C�\6�9YAË%C �6�³[
¸�$7�%,9��$7Ìc<%��C�d6�»[cC>[+�»[cC�[6�®\�CM[6�³Ë%C>±+�-Y ��±+�³[%C>±+�-YWYWC�±+�-YAd%C

±W�9Y2± ��±W�9YAË%C%\a�-Y2ËcCzYAb6�-YWC�YWY7�³d
¸�$7�%*�=®8£¸«�|,9$21 =93W,ACcda�-YWCM±+�-YWC�±W�»[cCM±+�-Y2Ë%C%\6�»Ë
¸���,9$214=?3W,AC�da�-YWC%da�®d�CM[6�-YWCM[6�³[%C>±+�-YWC>±+�³[%C>±+�»±cC>±+��
%C>±+�-Y7±�C

±W�9YAË%C+\a�-YWC+\6�»ËcC6\6� 
cC+\a�-Y2b �'\a�-YAd%C6\6�9Y2±cC6\a�-YA\%C
Ça�9Y�CcÇA�³[%C 
6�-YWC�YAb6�-Y

¸��|�?�%�°(a8M�2Ccda�³[%C%d6� ±
¸��|�¨=?,9���c*�=?�|3W<OCMda�-YWCWd6�»[cC6±+�®d�C+±W�9Y�YWC+\a�-Y �/\6�³\%CWË6�®d�C�Ça�9Y�C

Ça�³d%C�Y2b6�-YWC�Y�Y4�®d
ÉÂÖ>*%�|�%B�$7<>=2CÂd6�9Y�C)[+�³d%C)±W�9Y�C@±+�®d�Cw±+�»± ��±+���%Cw±+�-YA\%C@±W�

YAË%C%\a�-YWC�\a�³[%C%\6�®Ç�CM\6� �cC�\6�9Y�YWC�\a�-YAd%C>Ë+� ±�C>Ë+�³\%C
YAb6�-YWC�YWY7�9Y�C�YWY4�®d

É�5M�°��$7<c17$WCM[6�-YWC�±+�-Y �/±+�®\�C�±+�¨ÇMC+±W�9YAb �/±+�-Y2[cC+±+�-Y2ËcC 
6�-Y
É Ã��z$7<c�?$'�%*%<��ICcË6�-YWC �+�³d
�c(�14�|����=®8WCcd6�³d%C%[6�®d�C�Y2b+�9Y�C�YWY4�-Y
�c(WB����|8WCkY7�9Y�CÂda�-YWC�da�³[%C [6�-YWC [+�³d%C [+� ±�C�[6�³Ë%C ±+�-YWC ±W�®Ç�C

\6�»[cC)\a�»±cC@\6�»ËcC)\a�-Y2bcC@\a�-YWY�C@\a�-Y7±cC@\6�9YAË%C)Ça�9Y�C
Ça�³d%C 
6�-YWC 
6�®d�C �+�9Y � �6�³[%C�Y2b+�9Y�C�Y2b6�®d

�c(WB����|8�&@�|(W�|�?3W<OC%d6�9Y�CM[+� ±�C 
6�-Y
��·��/C�d6�9Y�Czd6�»[cCzda�»±cC�\a�-Y �D\6�»[cCz\a�®\�C�\a�³Ë%C�\a��
 �D\a�-YWY�C

Ë+�³d%CcÇA�-YWCIYWY7�9Y�C�YWY4�³[%C�Yada�-YWC�YAd6�³d

�w��$2�|�OC%±+�®d�C�±W� 
cC>±W�9Y�
%C%\a�-YWY�C�Y2b6�-YWC�Y�Y4�-YWC�YWY7�³d
�w��<�(+<c17�|(W�ÑCcd6�³d%C%[6�®\�C%\a���%C �+�9Y�CzYAb6�-Y
�w��,-�¨=«·0�°�IC�da�-YWCM±W�9YAb%CM±+�-YWY�C>±W�9Y6ÇMCM±+�-Y 

�w��8�$7,AC�da�-Y �£da�»±cC%[+�9Y�C%[6�®\�C�±+�-YWC�±W�³d%C�±+�-YWY�Cc\a�-Y ��\6�»ËcC

\6� �cCU\6�9YAb%C;\6�9Yad�C;\6�9Y2±cCÂË+�9Y�CÂË6�®d�C �6�-YWC �+�³d%C
YAb6�-YWC�YWY7�9Y�C�YWY4�®d

�%3M3��IC�d6�9Y�C%da�³[%C%[6�®d�CM±W�9Y�YWC%\a���%C�Ë6�-Y ��Ë6�®\
�%3�,?B��2CW·k�®d�C�[6�³[%C6±+�-YWC6±W� 
cC+±+���%C6±W�9YAË%C6±W�9Y6ÇMC+\a�¨Ç �/\6� �cC

\6�9Yad�C%\a�-Y2[cC �6�³[%CIYWY7�9Y�C�Y�Y4�®d
�%*c<c�ICzd6�9Y�C%da�®d�C%\a�»±cC%Ë+�9Y�CMË+�»[cC�ÇA�®d�C �6�-YWC �+�³d%CIY2b6�-Y
Ä0$2���°143���=?$2,2C%[+�³d%C�±+�®d�CM±+�³[%C�±W�»ËcC%\a��
%C�YWY7�9Y
Ä0�°�¨=?3W,9�°(+<OCIda�-YWC�[6�®d�Cz[6�®\�C�[+�»ËcC�±W�³d%Cc±W�³\%C�±W�9Ya\ �£±+�-YaÇ�C

\6�³d%C)\a�®\�C@\6�»ËcC)\a���%Cw\a�-Y2b%C@\6�9YA[%C@\6�9Ya\�C@\a�-Y2ËcC
Ça�9Y�CIY2b+�9Y

Ä«!k^�&�C�\6�®Ç�CIYWY4�³[%CzYAd6�9Y
²³<��´3�,?B�(6=9��3�<OCkY4�-YWC�d6�9Y �	da�»±cC [6�®d ��[+�»ËcC ±+�-Y ��±W�»[cC

±W�³\%CM±+��
%CM±+�-YWY ��±W�9Y6ÇMC�\a�-Y ��\a�-YA\%C>Ë+�³d%C>Ë+� ±�C
Ça�9Y�C�ÇA�®d�C �6�-Y � �6�³[%C�Y2b+�9Y�CzYada�-Y

²³<>=?$2,?<%$7=2C�d6�9Y�C%da�³[%Cc\a�-YWC%\6�»ËcC�\6�®Ç�Cc\a�-YWY
²³<>=?$2,?5M�|$7Æ�C�±+�-YA\%CM±+�-Y2Ë%C%\6�9Y�YWCcÇA�®d�CcÇA�³[
²³<M5W$A�®=9���>(6=?�|3W<@CcY4�-YWC>[6�-YWCM[6�³Ë%C�±+�-YWCW±W�»[cCW±W�®Ç�C�±W� 
cCW±+�-Y2[cC

\6�®Ç�Cc\a���%C%\a�-Y2bcCcÇA�-Y �DÇa�»[cC �+�9Y�C�Y2b6�®d
Ô�3W*%,9<c(+� CM±+�®d�C�±W� ±�C>±W�³\%Cc\a���%CcÇA�-Y
&@(aÆ ÉÂ<��´3W,-14$2B_$2<>=2C0Y7�9Y�CÂda�-Y �	d6� ±�C�[6�-YWC [6�®d�C�[+� ± �

[+�»ËcCI±+�-YWC�±+�³[%CI±W�®Ç�C�±+��
%CI±+�-YWY �D±W�9YA[%C�±+�-YA\%C
±W�9YAË%C+\a�®d�CW\6�»[cC+\a�®\ � \a�¨ÇMC+\a�-Y2bcC6\6�9Y�YWC+\a�-Y7± �
\6�9YAË%CcÇA�-Y ��ÇA�³[%C 
+�9Y�C �+�9Y ���+�»[cC�Y2b6�-YWCzY2b+�³d%C
Y�Y4�-Y

&O$A(W�IC+[+�³d%CA[+�³\%C6[6�³Ë%Ca±+�³[%Ca±+�»±cCA±+�-YWY�Ca±+�-YAd�CA±+�-Y7± ��±+�-Y 
cC
\6�9YAË%CcÇA�-YWC �+�9Y�C �6�®d

&O$2��(W�ÑCÂd6�³d%C [+�³\%C ±+�-YWYWC \a�-Y2bcC�\a�-Y7±cC�\6�9Ya\�C �6�-Y � �+�»[cC
Y�Y4�-Y

&O�°(+�°�?3W<OCcd6�9Y�CM[+�9Y�C%[6�»±cCM±+�-YWCM±W�9YAË%C 
6�-Y
&O�°�¨=2C da�-YWCwd6� ±�CO±+�-YWC)±+�³Ë%CO±W�9Yad�C)±+�-YaÇMC@±+�-Y 
%Cw\a�-YWC)\6�³d%C

\6�³\ � \a��
%CW\a�-Y2bcC+\a�-YAd � \a�-Y2ËcC+Ë6�-Y � Ë6�®\�CWÇa�9Y�C
Ça�»[cC 
6�-YWC 
6�®d�C �+�»[cC�YWY4�-YWC�Y�Y4�®d

&@.0: ^`(+<M*c(W�ÑC�·0�9Y�CIY4�-YWCIY2b+�³d%C�YAda�-Y
&@.0: !@$A(+BDC%·k�-YWCIY7�9Y�C�Y2b6�®d�C�Y�Y4�®d�C�YAd6�9Y�CzYada�®d
^`(W��� C#Y4�-YWCwd6�»[cC d6� ±�Cw\6�9Y�C \6� ±�Cw\a�³Ë �¶\6� 
cCw\a�-Y2bcC 
+�9Y�C

Y�Y4�³[%C�YAd6�9Y�C�YAda�®d

Y



^`(W<c(+��$7B�$7<>=2C6da�-YWC6da�³[%CA[6�-Y ��[6�³[%Ca[6�®\�CA±+�®d�CA±+��
%C2±+�-YA\%C
\6�9Y�C%\a�»±cC%Ë6�-YWC�Ë+�»[cC%Ë6�»±cC �6�-YWC�Y2b+�9Y�C�YWY4�-Y

^`(W�OCcda�-YWC%da�³[%C�[+�9Y�C>±W�9Y ��±+�®\�CM±+���%CM±+�-YWY�C�±W�9Yad�C>±+�-Y2ËcC
±W�9Y6ÇMC@\6�9Y�C)\a���%C@\6�9Yad�C@\a�-Y7±�COË6�®d�C �+�»[cC YWY7�9Y�C
Yada�®d

^`(W�%�%�|<%�cCcd6�»[cC%[6�-YWCM±+�»±cC%\a�-YWCc\6� �cC�YWY4�-YWC�Yada�®d
^�$A���|(cCzd6�9Y�Ccda�®d�Cc[+�9Y�Cc[6�®d�C%[+� ± ��[+�»ËcC%±+�-Y ��±+�»±cC%±W� 
cC

±W� �cCa±+�-YAd�Ca±W�9YA[%Ca±+�-Y2Ë ��±+�-Y 
cCa\6�³\%C+\a��
%C+\a�-Y2bcC
\6�9YA[%CI\a�-Y7±�CzË+�9Y�C�Ë+�»[ ��Ë+�³\%CIÇa�9Y �`ÇA�³[%C 
+�9Y�C
Y�Y4�-YWC�YWY7�³d

^�$A���|12(+� C%[6�®d�C�±W�9Y6ÇMC%\a�-Y2ËcC �+�»[
ª0$2Æ0�7Czda�®d�C�[6�»±cC%\a�-YWY�CcÇA�-YWC�ÇA�®d�C 
+�9Y�CzYAb6�-YWC�YWY7�³d
�«º�14$�CId6�³d%C�d6� ±�Cz[+�³d%C�±W� ±�C�±W�³\%Cc±W�9YAË%CI\a�-Y ��\6�»[cC�\6�³\%C

\6� 
cC%\a�-Y2Ë%C�Ë+�9Y ��Ë6�»±cC �6�-YWCIY�Y4�-Y
} (+��$7,AC�d6�»[cCcda�»±cC%\a�-YWY�CcÇA�-Y
} (+,9�M��<%��C%da�®d�C%[6�®d
}�"%3�<%$WC da�-Y ��d6� ±�CO[6�³[%CO±W�»[cCI±+�-YWYWCI±W�9Yad�CI±W�9Y2±cC�±+�-YA\%C

±W�9Y6ÇMC>±+�-Y 
cCM\6�³d%C�\6� ±�C%\a�³Ë ��\a�-Y2[%CMË6�³[ ��Ë+�³\%C
Ça�9Y�CcÇA�³[%C 
6�-YWC �+�³d%C �6�³[%C�YWY7�9Y

}�"%3W=?3��W,-(+�%"OCwda�³[%CO[6�-YWC@±+�»±cCI±+�-YWY �`±+�-Y2[cC)\a�-Y ��\6� ±�C
\6�»ËcC%\a�¨ÇMCc\a�-Y2bcC%\a�-YA\�C%\6�9YAË

}�,-(a8W$2,2C�Y4�-YWC�[+� ±�C�ÇA�®d
}�,9$2�9�/.0$7�|$2(W�?$WCÂd6�9Y�CÂda�»±cCÂ\6�9Y�CÂ\a�³Ë%C�\a�-Y2bcCÂ\a�-YAd�CÂÇa�9Y�C

Ça�³d%C �6�³[
}�,93�14$2�%*%,?$�Ccda�-YWC%da�®d�C%[+�³\%CM±+�-YAd�CM±W�9YAË%C�Ë6�-Y
}�*%�c���°1+C�da�-Y �_da�»±cC>[6�»± ��[6�³Ë%C+±W� �cC�\a�³[%CM\a�»±cC�\6�»ËcC�\a�-Y2bcC

\6�9Y�YWC%\a�-YA\%C>Ë+�»[cC�Ë6�»±cCcÇA�-Y �£Ça�»[cCzYAb6�-YWCzYWY7�9Y�C
Y�Y4�®d

.k$A143W,-�IC>[6�®d�CW[+�³\%CW[6�³Ë%C�±+�®d�C+±W�®Ç�C+±+�-YWY�C+±+�-YA\%C+±+�-Y2ËcC�\a���
��\6�9Y�YWC%\a�-YA\%CMË+�9Y�C�Ë6�®d�C �6�-YWC�YAb6�-YWC�Y2b+�³d

.k$A14365W$2,?8/:;$2<>=?$7,ACcY7�9Y�C�da�-Y �/da�»±cCW[+�9Y �/[6�³[%C�[6�®\�CW[+�»ËcC
±W�9Y�CM±+�®d�CM±+�»±cCM±+�-Y2b ��±+�-YA\�CM±W�9Y6ÇMC>±+�-Y 
%C%\6�9Y�C
\6�³d%CM\6� ± ��\a�-Y2ËcC�Ë+�9Y�C>Ë+�»[cC�Ë6�»±cC%ÇA�-YWC 
6�-YWC �6�-Y
� �+�»[cCIY2b6�-YWC�YAb6�®d�CzYWY4�-YWC�Y�Y4�®d�C�YAd6�9Y

.k$2�W�°�®=9$7,ACc\a�³Ë%C%\a�-Y2[ ��\a�-YA\
.k$A�¨3�*%,917$WC�Y7�9Y�C�da�-YWC6±W�9Y�C6±+�®d�C6±+�®\�CW±+�³Ë%C6±+�-Y 
cCW\a�-YWCW\6� 
cC

\6�9YAb%CO\a�-YAd%CO\a�-Y7±cCIË+�9Y �`Ë+�³\%C@ÇA�-YWC �6�®d�C �+�»[cC
Y�Y4�-Y

.k$2ÆU(W,9�IC%d6�³d%C%[6�®\�C%\a�»±cCc\6�9YAb%CcÇA�-YWC �6�-YWC �+�³d%CIY2b6�-Y
.k$2ÆU(W,9���%*%<c�OCz\a�»±cC �+�9Y�C �6�®d
.k*%�|$2�2C�\6�9YA[
¬M$A(+,-1-"OC0Y4�-YWCUda�-Y ��da�»±cC�[+�9Y �¹[+�»[cCÂ[6�®\�C;[6�³Ë%C�±W�9Y �

±W�9Y�
%C�\a�-YWC�\a�³[ ��\a�-Y2ËcC>Ë+�9Y�C>Ë+�»[ ��Ë+�³\%C�Ça�9Y �
Ça�»[cC 
6�-YWC �6�³[%C�YAb6�-YWC�YWY7�9Y�CzY�Y4�®d�C�YAd6�9Y�C�YAda�®d

¬M$A(+,-1-"£����$2,9(+=?�|3W<c�2C>d6�9Y�C>[+�9Y�C>[+�³d%C>[+�³\%C>[+�»ËcCW±W�9Y�C�±W� �cC
\6� 
cC 
6�-YWC�Y2b+�9Y

¬M$A14*%,9�µ=®8�C«da�-YWC0[+�³d%C#[+�»[cC#±+�³[%C#±+�-YWY�CU±W�9Y2±cC0\a�®d�C0\6� �cC
\6�9Y2±cC%\a�-YA\%CcÇA�®d

¬M$2<c�¨��=?�|5W$�C�da�-Y �£da�³[%C�[6�®d�C%[+�»[cC>±W�9Y�C�±+�-YA\%C�\6�9YAb%C%\a�-YWY�C
\6�9Y2±cCcÇA�-YWC�Ça�³d%C �6�³[

¬M"M*�=-��36Æk<OCc[+�»ËcC%±+�®\�C�±W�9Y2±cC�±+�-YA\%C%\a�®\�Cc\a�¨ÇMCz\a���%Cc\a�-Y2bcC
YAb6�-Y

¬M3W� =®ÆU(W,?$�C>±W� ±�Cc\a�-YWC%\a�³[%Cc\6�»ËcC%\a�¨ÇMC�YAd6�9Y�CzYada�®d
¬M�z$217�|(W�@!)(��¨���2C�[6�-YWC�±+�®\�CM±W�»ËcC�±+�-Y7±cCzYWY7�³d
¬>=-(6=?*��7C�d6�9Y�CM±+�-YWC�±+�-YAd ��±+�-Y7±�C�\6� 
cC%\a�-YAd
¬>=9,9(+=?$7��8WC%[+�³\%CM[+�»ËcC�±+�®d
¬>=9,?$A�?�2C%[6�-YWC%[+� ± ��[6�³Ë%Cc\a�-Y2ËcC 
+�9Y�CIY2b+�9Y
¬M*%�c�%���|$2�2C;d6�9Y�C d6�»[cC ±+�»±cC ±+�®\�C ±W�9Y�YWCw±+�-YAd�C ±W�9YAË ��±W�

Y�
%C%\a�-YWC%\6�³d%CM\6�®Ç�CM\6�9Y�YWC�\a�-YAd�CMË6�-YWC�Ë+�»[cC>Ë+�³\%C
YAb6�-YWC�YWY7�9Y

!w(+,9�W$4=9��<c�cC�d6�9Y�C�da�³[%Cc[+� ±�Cc[6�®\�Cc±+�-Y ��±W�»ËcC%±+�-Y2ËcC%±+�-YaÇ�C
\6� 
cCc\a���%C�YWY7�³d

!)$2(W1-"c$7,AC%[6�-Y
!)$7�|$7�%"%3�<%$WC>da�-YWCa±+�³[%C6±W�9Y2±cCa±+�-YA\%C6\6�³d%C+\a�»±cCW\a��� � \a�-YWY�C

\6�9YA[
!#"%,9$2(+=2Cc\a�-YWY
!#�|�OC0da�³[%C#[6�®\�C;[+�»ËcCÂ±W�9Y�C;±W�»[cCÂ±+�®\�C;±+�-Y 
cCU\a���%Ck\a�-YWY�C

\6�9YA[%C%\a�-YA\%CcÇA�³[%C �6�®d�C �+�»[
!k.0·���C�\a�®d�C%\a�®\
!),?�°(+<%����$�3W�w!),?*c�¨=2C@Y4�-Y
� 3W�|*%<>=?$2$7,AC�Y4�-YWC@d6�9Y ��da�³[%CO[6�-Y ��[+�³\%CI±+�-YWC�±+�³[%CI±W� 
cC

±W�9YAb%CM±+�-YWY�C�±W�9Ya\�C%\a�-YWC%\6�³d%C�\6�®Ç ��\a���%C%\a�-YWY�C
\6�9YA[ �`\a�-YA\�C�Ë6�-Y ��Ë6�»±cC@ÇA�-YWCOÇA�®d�C 
+�9Y�C �+�»[cC
YAb6�-YWC�YWY7�9Y�C�YWY4�®d

��$2(6=9"%$7,AC�d6� ±�C>±W�9Y�CM±+�³[%C�±+�®\�CM±W�9Yad�CM±+�-Y2[cCMË+� ±
��$7��¬M�µ=9$WC�Y7�9Y�C6d6�9Y�C+da�»±cC6±+�®\�C+\6�9Y � \a�»±cC+\6�»ËcC6\6�®Ç�CMYAda�®d
� � �ÅC@Y7�9Y�CM±+�®\�Cc\a�-YWC�Y�Y4�³[%C�YAd6�9Y�CzYada�®d


